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Ηιεραρχηιχαλ Στρυχτυρεσ ανδ ∆ψναµιχ Ινχεντιϖεσ

ΑΒΣΤΡΑΧΤ

Ωε στυδψ τηε οπτιµαλ ηιεραρχηιχαλ στρυχτυρε οφ αν οργανιζατιον υνδερ λιµιτεδ χοµµιτ−

µεντ. Τηε οργανιζατιον χαννοτ µακε α λονγ τερµ χοµµιτµεντ το ωαγεσ ανδ ουτπυτ λεϖελσ,

ωηιλε ιτ χαν χοµµιτ το ιτσ ηιεραρχηιχαλ στρυχτυρε. Ωε σηοω τηατ τηε οπτιµαλ ηιεραρχηιχαλ

στρυχτυρε ισ ηοριζονταλ ωηεν ιτ ισ ηιγηλψ λικελψ τηατ τηε εµπλοψεεσ αρε ε′χιεντ ορ ινε′χιεντ.

Βψ χοντραστ, ωηεν συχη λικελιηοοδ ισ ιντερµεδιατε ορ ουτπυτ δοεσ νοτ εξπανδ ϖερψ φαστ οϖερ

τιµε, τηε οπτιµαλ ηιεραρχηιχαλ στρυχτυρε ισ ϖερτιχαλ � ωιτη α ϖερτιχαλ ηιεραρχηψ, τηε οργανι−

ζατιον χαν µιτιγατε δψναµιχ ινχεντιϖε προβλεµσ λινκεδ το λιµιτεδ χοµµιτµεντ.

ϑΕΛ Χλασσι�χατιον: ∆82, ∆86

Κεψ ωορδσ: ∆ψναµιχ Ινχεντιϖεσ, Οργανιζατιον ∆εσιγν
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1 Ιντροδυχτιον

Αν οργανιζατιον�σ ε′χιενχψ δεπενδσ ον ιτσ ηιεραρχηιχαλ στρυχτυρε, ωηιχη ιν τυρν δε�νεσ αυ−

τηοριτιεσ ανδ ινφορµατιον �οωσ ωιτηιν τηε οργανιζατιον. Ιν τηισ παπερ, ωε δεϖελοπ α τηεορψ

οφ οπτιµαλ ηιεραρχηιχαλ δεσιγν βασεδ ον δψναµιχ ινχεντιϖεσ. Ιν παρτιχυλαρ, ωε αναλψζε ηοω

αν οργανιζατιον χαν υσε ιτσ ηιεραρχηιχαλ στρυχτυρε το µιτιγατε ρατχηετ ε⁄εχτσ. Ασ ιδεντι�εδ ιν

τηε λιτερατυρε (ε.γ., Λα⁄οντ ανδ Τιρολε 1988 αµονγστ οτηερσ), συχη προβλεµσ αρισε ωηεν τηε

οργανιζατιον�σ χοµµιτµεντ ισ λιµιτεδ. Υνλικε ιν τηε χασε οφ φυλλ χοµµιτµεντ, τηε οργανιζα−

τιον υνδερ λιµιτεδ χοµµιτµεντ µυστ µοτιϖατε ιτσ εµπλοψεεσ οϖερ τηε δι⁄ερεντ σταγεσ οφ τηειρ

χαρεερσ ιν α τιµε χονσιστεντ µαννερ. Ουρ µαιν ρεσυλτ ισ τηατ α ϖερτιχαλ ηιεραρχηψ, ιν ωηιχη

χοµµυνιχατιον λινεσ αρε ρεστριχτεδ, ηελπσ τηε οργανιζατιον ιν προϖιδινγ συχη µοτιϖατιονσ.

Αν ιντερπλαψ οφ τηε φολλοωινγ τωο ιδεασ ισ κεψ το τηε ρεσυλτ. Φιρστ, α ϖερτιχαλ ηιεραρχηψ

ωιτη λονγερ ανδ µορε ρεστριχτεδ χοµµυνιχατιον λινεσ αλλοωσ σενιορ ωορκερσ το εξτραχτ ρεντσ

φροµ τηειρ αχθυιρεδ κνοωλεδγε αβουτ ϕυνιορ ονεσ. Ουρ µοδελ χαπτυρεσ τηισ ιδεα βψ τηε

δι⁄ερενχε ιν χοµµυνιχατιον στρυχτυρεσ βετωεεν α ϖερτιχαλ ανδ α ηοριζονταλ ηιεραρχηψ.1 Ουρ

τηεορψ, τηερεφορε, εξπλαινσ εξπλιχιτλψ ηοω ρεντσ φροµ προµοτιονσ χοµε αβουτ � τηε ϖερτιχαλ

ηιεραρχηψ πυτσ τηε προµοτεδ ωορκερ ιν τηε πριϖιλεγεδ ποσιτιον το εξτραχτ ρεντσ φροµ ηισ

αχθυιρεδ κνοωλεδγε αβουτ ηισ συβορδινατεσ.2 Τηισ αργυµεντ ισ ιν λινε ωιτη τηε φρεθυεντλψ

ηεαρδ χοµπλαιντ αµονγ ϕυνιορ µεµβερ οφ αν οργανιζατιον τηατ τηειρ βοσσ οφτεν τακεσ χρεδιτ

φορ τηειρ συβορδινατεσ� ιδεασ ανδ αχηιεϖεµεντσ.3 Ουρ σεχονδ κεψ ιδεα ισ τηατ �ρµσ �νδ ιτ

εασιερ το χοµµιτ το βασιχ οργανιζατιοναλ στρυχτυρεσ τηαν το σοπηιστιχατεδ ωαγε χοντραχτσ.

Ωε µοτιϖατε τηισ λαττερ ιδεα βψ νοτινγ τηατ τηε χοµµιτµεντ ποωερ οφ ωαγε χοντραχτσ αρε

τψπιχαλλψ λιµιτεδ βψ λαω δυε το νον−σλαϖερψ χλαυσεσ ορ οτηερ υναλιεναβλε ωορκερ�σ ριγητσ. Ιν

αδδιτιον, φυλλψ �εδγεδ ωαγε σχηεµεσ αρε χοµπλεξ, ανδ τηυσ οφτεν συβϕεχτ το χηανγεσ ιν τηε

φυτυρε, ωηιλε αν οργανιζατιον�σ ηιεραρχηιχαλ στρυχτυρε ισ ηαρδ το χηανγε ονχε σετ υπ.

1Ωε φολλοω Ραϕαν ανδ Ζινγαλεσ (2001) φορ τηε τερµινολογιεσ ηοριζονταλ ανδ ϖερτιχαλ ηιεραρχηψ.
2Ηενχε, ουρ εξπλανατιον γοεσ βεψονδ τηε λιτερατυρε οφ �προµοτιον τουρναµεντσ∀ ιν οργανιζατιονσ (ε.γ.

Λαζαερ ανδ Ροσεν 1981), ωηιχη πρεσυµεσ βυτ δοεσ νοτ εξπλαιν τηε εξιστενχε οφ ρεντσ φροµ προµοτιονσ.
3Σεε, φορ ινστανχε, Βαρτολοµε (1989). Αν ιντερνετ σεαρχη ωιτη τηε κεψωορδσ �βοσσ� �στεαλσ� �ιδεασ� ρεϖεαλσ

οϖερ 6 µιλλιονσ λινκσ το ωεβσιτεσ ον πραχτιχαλ αδϖιχε ηοω το δεαλ ωιτη τηισ προβλεµ.
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Τηε κεψ τραδε−ο⁄ ιν ουρ ρεσυλτ ισ χοντρολ ϖσ. δψναµιχ ινχεντιϖεσ � τηε ηοριζονταλ ηι−

εραρχηψ αλλοωσ αν οργανιζατιον α τιγητερ χοντρολ, ωηιλε τηε ϖερτιχαλ ηιεραρχηψ εναβλεσ τηε

οργανιζατιον το µιτιγατε δψναµιχ ινχεντιϖε προβλεµσ ασσοχιατεδ ωιτη ιτσ λιµιτεδ χοµµιτ−

µεντ. Υσινγ α δψναµιχ αγενχψ φραµεωορκ, ωε αναλψζε ωηψ ανδ υνδερ ωηατ χιρχυµστανχεσ

ονε ηιεραρχηιχαλ στρυχτυρε πρεϖαιλσ οϖερ τηε οτηερ. Ουρ αναλψσισ ρεϖεαλσ τηατ τηε ηοριζονταλ

ηιεραρχηψ ισ οπτιµαλ ωηεν τηε οργανιζατιον�σ ουτπυτ εξπανδσ θυιχκλψ οϖερ τιµε ανδ ιτ ισ

ηιγηλψ λικελψ τηατ τηε εµπλοψεεσ αρε ε′χιεντ ορ ινε′χιεντ. Βψ χοντραστ, ωηεν συχη λικελι−

ηοοδ ισ ιντερµεδιατε ορ ουτπυτ γροωτη ισ ρελατιϖελψ σλοω, τηε ϖερτιχαλ ηιεραρχηψ ισ οπτιµαλ.

Ουρ ρεσυλτ ισ χονσιστεντ ωιτη στψλιζεδ οβσερϖατιονσ. Φαστ γροωινγ �ρµσ ωιτη α ηιγηλψ ε′χιεντ

ωορκφορχε τψπιχαλλψ εξηιβιτ �αττερ, µορε ηοριζονταλ ηιεραρχηιεσ, ωηερεασ �ρµσ ιν µορε µατυρε

ινδυστριεσ τηατ γροω λεσσ θυιχκλψ ανδ πιχκ τηειρ ωορκερσ φροµ αν αϖεραγε ποολ οφ ποτεντιαλ

εµπλοψεεσ τενδ το ηαϖε ϖερτιχαλ ηιεραρχηιεσ.

Το πρεσεντ τηε ιντυιτιον βεηινδ ουρ ρεσυλτσ ιν α νυτσηελλ, ωε ποιντ ουτ τηατ αν οργανι−

ζατιον ωιτη λιµιτεδ χοµµιτµεντ φαχεσ α χοµβινατιον οφ τωο ινχεντιϖε προβλεµσ: Α ηολδ−υπ

προβλεµ ασσοχιατεδ ωιτη ε′χιεντ αγεντσ ανδ α τακε−τηε−µονεψ−ανδ−ρυν4 προβλεµ ασσοχιατεδ

ωιτη ινε′χιεντ αγεντσ. Τηε χοµβινατιον οφ βοτη προβλεµσ µακεσ ινφορµατιον ρεϖελατιον

µορε χοστλψ το τηε οργανιζατιον. Ουρ ρεσυλτσ σηοω τηατ, ωηεν ινε′χιεντ ωορκερσ αρε ρελα−

τιϖελψ λικελψ, α ϖερτιχαλ ηιεραρχηψ µιτιγατεσ τηε τακε�τηε�µονεψ�ανδ�ρυν προβλεµ, ωηιλε ιτ

µιτιγατεσ τηε ηολδ�υπ προβλεµ, ωηεν ε′χιεντ ωορκερσ αρε ρελατιϖελψ λικελψ. Ηενχε, ουρ εχο−

νοµιχ ινσιγητ ισ τηατ α ϖερτιχαλ ηιεραρχηψ αλλεϖιατεσ ινφορµατιον ρεϖελατιον ιν τωο δι⁄ερεντ

ωαψσ ανδ ισ βενε�χιαλ ωηεν ινφορµατιον ρεϖελατιον ισ ιµπορταντ. Τηισ ισ τηε χασε ωηεν τηε

υνχερταιντψ αβουτ τηε ωορκερ�σ ινε′χιενχψ ισ ηιγη ορ ουτπυτ δοεσ νοτ εξπανδ ϖερψ φαστ οϖερ

τιµε.

Το εξπλαιν τηισ ιν µορε δεταιλ, νοτε τηατ, δυε το τηε �ρµ�σ λιµιτεδ χοµµιτµεντ, αν αγεντ

ωηο ρεϖεαλσ ηιµσελφ ασ ε′χιεντ αντιχιπατεσ α ηολδ�υπ προβλεµ ιν τηε φυτυρε. Ιν ορδερ το ρεϖεαλ

ηισ ε′χιενχψ, αν ε′χιεντ ωορκερ, τηερεφορε, ρεθυιρεσ α λαργε παψµεντ ιν τηε βεγιννινγ οφ ηισ

χαρεερ. Τηισ παψµεντ, ηοωεϖερ, ινδυχεσ αν ινε′χιεντ ωορκερ το φολλοω α τακε−τηε−µονεψ−

ανδ−ρυν στρατεγψ, ι.ε., µισρεπρεσεντ ηισ ε′χιενχψ ιν ορδερ το ρεχειϖε τηε λαργε παψµεντ ανδ,

4Σεε Λα⁄οντ ανδ Τιρολε (1993) φορ τηε τερµινολογψ.
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συβσεθυεντλψ, ρεϕεχτ τηε οργανιζατιον�σ ο⁄ερ ιν τηε νεξτ περιοδ. Ωε σηοω τηατ ωηεν ιτ ισ

ρελατιϖελψ λικελψ τηατ ωορκερσ αρε ινε′χιεντ, α ϖερτιχαλ ηιεραρχηψ αλλοωσ τηε οργανιζατιον το

πλεδγε α λονγ τερµ ρεντ το τηε ινε′χιεντ ωορκερ, ωηιχη ισ λοστ ωηεν ηε δεχιδεσ το �ρυν� ιν

τηε σεχονδ περιοδ. Τηισ ρεδυχεσ τηε τακε−τηε−µονεψ−ανδ−ρυν προβλεµ. Ιν χοντραστ, ωηεν ιτ

ισ ρελατιϖελψ λικελψ τηατ ωορκερσ αρε ε′χιεντ, τηε ϖερτιχαλ ηιεραρχηψ αλλοωσ τηε οργανιζατιον το

�πλαψ ηαρδ βαλλ� µορε χρεδιβλψ. ∆υε το τηε λοσσ οφ χοντρολ ιν τηε ϖερτιχαλ ηιεραρχηψ, τηε χοστ

οφ οπερατιον ισ ηιγηερ ανδ τηισ µακεσ φυτυρε προδυχτιον χυτσ χρεδιβλε. Τηεσε προδυχτιον χυτσ

ιµπλψ τηατ αν ε′χιεντ ωορκερ γαινσ λεσσ φροµ ηισ ηιγηερ ε′χιενχψ ιν τηε σεχονδ περιοδ. Ασ

α χονσεθυενχε, ηισ ηολδ�υπ προβλεµ βεχοµεσ λεσσ σεϖερε. Ωηεν τηε ε′χιενχψ υνχερταιντψ

αβουτ ωορκερσ ισ λαργε, τηε ϖερτιχαλ ηιεραρχηψ εξηιβιτσ βοτη ε⁄εχτσ ανδ ισ εσπεχιαλλψ ε⁄εχτιϖε.

Φιναλλψ, ωε χοµπαρε χονδιτιοναλ ανδ υνχονδιτιοναλ ηιεραρχηιεσ. Τηε χοµπαρισον σηοωσ

τηατ χονδιτιοναλ ηιεραρχηιεσ τηατ προµοτε ονλψ ε′χιεντ ωορκερσ αρε νεϖερ συπεριορ το υν−

χονδιτιοναλ ηιεραρχηιεσ τηατ προµοτε ανψ λονγ τερµ ωορκερ. Τηισ ρεσυλτ δεµονστρατεσ τηατ,

ωιτη ρεσπεχτ το δψναµιχ ινχεντιϖεσ, σενιοριτψ ρατηερ τηαν µεριτ ισ τηε δεχιδινγ φαχτορ. Τηισ

ρεσυλτ ισ χονσιστεντ ωιτη τηε στψλιζεδ φαχτ τηατ σενιοριτψ πλαψσ αν ιµπορταντ, ιφ νοτ χρυχιαλ,

ρολε ωιτη ρεγαρδ το προµοτιονσ. Ουρ εξπλανατιον φορ τηισ πυζζλινγ οβσερϖατιον ισ τηατ προ−

µοτιονσ βασεδ ον σενιοριτψ εναβλε τηε οργανιζατιον το τιε αλσο λεσσ ε′χιεντ εµπλοψεεσ το τηε

οργανιζατιον ανδ τηερεβψ ρεδυχε τηε τακε−τηε−µονεψ−ανδ−ρυν προβλεµ.

Τηε ρεστ οφ τηε παπερ ισ οργανιζεδ ασ φολλοωσ. Ιν τηε νεξτ σεχτιον, ωε δισχυσσ τηε ρελατεδ

λιτερατυρε. Ωε πρεσεντ τηε φορµαλ φραµεωορκ ιν Σεχτιον 3. Ιν Σεχτιον 4, ωε αναλψζε τηε

ηοριζονταλ ηιεραρχηψ ιν ωηιχη εαχη αγεντ ηασ διρεχτ αχχεσσ το τηε πρινχιπαλ. Τηε ϖερτιχαλ

ηιεραρχηψ ιν ωηιχη τηε πρινχιπαλ ονλψ δεαλσ ωιτη τηε σενιορ αγεντ ισ δισχυσσεδ ιν Σεχτιον

5. Ιν Σεχτιον 6, ωε εξτενδ ουρ αναλψσισ το χονδιτιοναλ ηιεραρχηιεσ, ωηερε τηε ηιεραρχηιχαλ

στρυχτυρε ιν τηε σεχονδ περιοδ δεπενδσ ον τηε σενιορ αγεντ�σ ρεπορτ ιν τηε �ρστ περιοδ.

Χονχλυσιον φολλοωσ ιν Σεχτιον 7. Αλλ προοφσ αρε ρελεγατεδ το αν αππενδιξ. Α σεχονδ αππενδιξ

δεµονστρατεσ τηατ ουρ ρεσυλτσ αρε ροβυστ ωηεν χονσιδερινγ σεµι−σεπαρατινγ στρατεγιεσ.
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2 Ρελατεδ Λιτερατυρε

Αµονγ τηε µανψ χοντριβυτιονσ αβουτ ηιεραρχηιχαλ στρυχτυρεσ,5 τηε φολλοωινγ στυδιεσ αρε µορε

ρελατεδ το ουρσ. Λα⁄οντ ανδ Μαρτιµορτ (1998) αργυε τηατ τηε ϖερτιχαλ ηιεραρχηψ µαψ βε οπ−

τιµαλ ωηεν τηε οργανιζατιον χαννοτ δισχριµινατε ωαγε τρανσφερσ το τηε αγεντσ ατ τηε σαµε

ηιεραρχηιχαλ λεϖελ. Ιν παρτιχυλαρ, χολλυσιον αµονγ τηε αγεντσ χαν βε αν ισσυε ωηεν τηε αγεντσ

οφ δι⁄ερεντ τψπεσ ρεχειϖε τηε σαµε ωαγε τρανσφερσ. Τηε αυτηορσ σηοω τηατ τηε ϖερτιχαλ ηιερ−

αρχηψ εναβλεσ τηε οργανιζατιον το δισχριµινατε ωαγε τρανσφερσ, τηυσ µιτιγατινγ τηε ινχεντιϖεσ

το χολλυδε. Ραϕαν ανδ Ζινγαλεσ (2001) δεµονστρατε τηατ τηε ηοριζονταλ ηιεραρχηψ πρεϖεντσ

τηε εµπλοψεεσ φροµ τακινγ τηε οργανιζατιον�σ προδυχτιον τεχηνολογψ ανδ βεχοµινγ α χοµ−

πετιτορ, ωηιλε τηε ϖερτιχαλ ηιεραρχηψ προϖιδεσ τηε εµπλοψεεσ ωιτη µορε ινχεντιϖε το λεαρν

τηε τασκσ τηειρ ιµµεδιατε συπεριορ ασσιγνσ τηεµ. Τηεψ σηοω τηατ τηε πρεϖαιλινγ ηιεραρχηψ

ισ ηοριζονταλ ωηεν τηε οργανιζατιον�σ προδυχτιον ισ λαβορ−ιντενσιϖε, ανδ ϖερτιχαλ ωηεν προ−

δυχτιον ισ χαπιταλ�ιντενσιϖε. Φριεβελ ανδ Ραιτη (2004) σηοω τηατ α σενιορ αγεντ µαψ φεαρ

τηατ α µορε προδυχτιϖε αγεντ ωουλδ ρεπλαχε ηιµ ιφ τηε λαττερ χαν χοµµυνιχατε διρεχτλψ ωιτη

τηε πρινχιπαλ. Ηενχε, τηε σενιορ αγεντ ηασ αν ινχεντιϖε το ηιρε λεσσ προδυχτιϖε αγεντσ υνλεσσ

χοµµυνιχατιον βετωεεν τηε πρινχιπαλ ανδ τηε νεω αγεντ ισ λιµιτεδ. Τηεψ σηοω τηατ ιτ χαν

βε οπτιµαλ το φορχε τηε νεω αγεντ το γο τηρουγη τηε χηαιν οφ χοµµανδ ωηεν χοµµυνιχατινγ

ωιτη τηε πρινχιπαλ. Υνλικε τηεσε παπερσ, ουρ στυδψ σηοωσ ηοω αν οργανιζατιον υσεσ δεσιγν−

ινγ ιτσ ηιεραρχηιχαλ στρυχτυρε το χοπε ωιτη τηε ισσυεσ οφ λιµιτεδ χοµµιτµεντ ανδ ασσοχιατεδ

δψναµιχ ινχεντιϖε προβλεµσ.

Ιν α στατιχ µοδελ, Βαρον ανδ Βεσανκο (1992) σηοωσ τηατ ιφ τοπ µαναγεµεντ χαν µον−

ιτορ τηε τρανσαχτιον βετωεεν τηε συβυνιτσ, τηεν τηε ϖερτιχαλ ηιεραρχηψ ισ εθυιϖαλεντ το τηε

ηοριζονταλ ηιεραρχηψ. Μελυµαδ ετ αλ. (1992) βρεακσ τηισ τιε βετωεεν τηε ηοριζονταλ ανδ

ϖερτιχαλ ηιεραρχηψ ανδ σηοω τηατ τηε ϖερτιχαλ ηιεραρχηψ δοµινατεσ τηε ηοριζονταλ ηιεραρχηψ

5Σεε, φορ εξαµπλε, Ωιλλιαµσον (1967) ανδ ΜχΑφεε ανδ ΜχΜιλλαν (1995) τηατ αδϖοχατε τηε ηοριζονταλ

ηιεραρχηψ βψ ινδεντιφψινγ λοσσ οφ χοντρολ ιν τηε ϖερτιχαλ ηιεραρχηψ. Χαλϖο ανδ Ωελλισζ (1979) ανδ Θιαν (1994)

αναλψζε οπτιµαλ ωαγε τρανσφερσ ωιτη ρεσπεχτ το ηιεραρχηιχαλ ρανκσ. Ροσεν (1982), Ηαρρισ ανδ Ραϖιϖ (2002),

ανδ Ηαρτ ανδ Μοορε (2005) στυδψ χοορδινατιον ισσυεσ ιν δι⁄ερεντ ηιεραρχηιχαλ στρυχτυρεσ.
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ιν τηε πρεσενχε οφ χοστλψ χοµµυνιχατιον.6 Αγηιον ανδ Τιρολε (1997) σηοω τηατ προϖιδινγ α

συβορδινατε ωιτη αυτηοριτψ ινδυχεσ τηε συβορδινατε το αχθυιρε ανδ προϖιδε υσεφυλ ινφορµα−

τιον φορ τηε οργανιζατιον. Αλσο ∆εσσειν (2002) δεµονστρατεσ τηατ δελεγατιον οφ χοντρολ το α

συβορδινατε ιµπροϖεσ ηισ ινχεντιϖεσ το προϖιδε ινφορµατιον, ωηεν τηε οργανιζατιον�σ χοµµιτ−

µεντ ισ λιµιτεδ. Τηε φοχυσ ιν Αγηιον ανδ Τιρολε (1997) ανδ ∆εσσειν (2002) ισ, ηοωεϖερ, ον

τηε δελεγατιον οφ αυτηοριτψ ρατηερ τηαν τηε οπτιµαλ ηιεραρχηιχαλ στρυχτυρε οφ µυλτι�λαψερεδ

οργανιζατιονσ.

Τηε οργανιζατιον λιτερατυρε ρεχογνιζεσ τηε ινχεντιϖε ε⁄εχτ οφ προµοτιονσ µοστλψ φροµ α

ηιδδεν αχτιον περσπεχτιϖε. Σταρτινγ ωιτη Λαζαερ ανδ Ροσεν (1981), αν εξτενσιϖε λιτερατυρε

ποιντσ ουτ τηατ προµοτιονσ χαν σερϖε ασ τουρναµεντσ βετωεεν αγεντσ το ιµπροϖε ινχεντιϖεσ.

Ιν χοντραστ, ουρ ινχεντιϖε προβλεµ οριγινατεσ φροµ ηιδδεν ινφορµατιον ρατηερ τηαν ηιδδεν

αχτιον. Ασ α χονσεθυενχε, ρεσυλτσ δι⁄ερ ιν τωο ρεσπεχτσ. Φιρστ, ουρ φραµεωορκ αλλοωσ υσ

το γο ονε στεπ φαρτηερ τηαν τηε τουρναµεντ λιτερατυρε ανδ εξπλαιν ωηερε τηε ρεντσ φροµ α

προµοτιον αχτυαλλψ χοµε φροµ. Τηισ ισ λεφτ υνεξπλαινεδ ιν τηε τουρναµεντ λιτερατυρε, ωηιχη

ιµπλιχιτλψ πρεσυµεσ α χοµµιτµεντ οφ τηε οργανιζατιον νοτ το ρεδυχε τηε ρεντσ φροµ τηε

προµοτιον αφτερ τηε τουρναµεντ ενδσ. Σεχονδ, φροµ τηε τουρναµεντ λιτερατυρε ιτ φολλοωσ

τηατ προµοτιονσ αρε γιϖεν ον µεριτ ανδ νοτ ον σενιοριτψ. Τηισ χονχλυσιον χαννοτ εξπλαιν τηε

στψλιζεδ φαχτ τηατ, ιν µανψ οργανιζατιονσ, σενιοριτψ πλαψσ αν ιµπορταντ, ιφ νοτ χρυχιαλ, ρολε

ωιτη ρεγαρδ το προµοτιονσ.

3 Τηε Φραµεωορκ

Ωε χονσιδερ α τωο περιοδ (τ = 1; 2) µοδελ ιν ωηιχη τηε τοπ µαναγεµεντ οφ τηε �ρµ (τηε

πρινχιπαλ) ποτεντιαλλψ ηιρεσ τωο εξπερτσ (τηε αγεντσ). Ωε ασσυµε τηατ τηε �ρµ�σ ρεϖενυε

οππορτυνιτιεσ ανδ αϖαιλαβλε τεχηνολογιεσ γροω οϖερ τιµε. Φορ τηισ ρεασον, τηε πρινχιπαλ ηιρεσ

6Μελυµαδ ετ αλ. (1995) σηοω τηατ αν αππροπριατε δεσιγν οφ χοµµυνιχατιοναλ σεθυενχε χαν µιτιγατε λοσσ

οφ χοντρολ ιν τηε ϖερτιχαλ ηιεραρχηψ. Σεε Ραδνερ (1993) ανδ Βολτον ανδ ∆εωατριποντ (1994) φορ αν αναλψσισ

οφ χοµµυνιχατιον ισσυεσ ιν αν οργανιζατιον.
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ονε αγεντ (αγεντ Α) ιν τ = 1, ανδ σηε ηιρεσ αν αδδιτιοναλ αγεντ (αγεντ Β) ιν τ = 2:7 Τηε

ουτπυτ λεϖελ οφ αγεντ Α ιν τ = 1 ισ θΑ1 2 φ0; 1γ:
8 Βεχαυσε ουτπυτ λεϖελ ισ ϖερι�αβλε, τηε �ρστ

περιοδ χοντραχτ ισ α ωαγε !1 φροµ τηε πρινχιπαλ το αγεντ Α χοντινγεντ ον ηισ ουτπυτ λεϖελ.

Ιν τ = 2; αγεντ Α ανδ Β προδυχε θΑ2 2 φ0; 
γ ανδ θΒ2 2 φ0; 
γ ρεσπεχτιϖελψ, ωηερε 
 > 1

ρεπρεσεντσ τηε �ρµ�σ ουτπυτ εξπανσιον παραµετερ.

Τηε αγεντ�σ ινδιϖιδυαλ ουτπυτ λεϖελσ µαπ ιντο τηε οργανιζατιον�σ ρεϖενυε ασ φολλοωσ. Ιν

τ = 1; τηε οργανιζατιον�σ ρεϖενυε, θ1, ισ σιµπλψ αγεντ Α�σ ουτπυτ λεϖελ θΑ1; ανδ τηυσ:

θ1 = θΑ1 2 φ0; 1γ:

Αγεντσ� ε⁄ορτ λεϖελσ ιν τ = 2 αρε χοµπλεµενταρψ. Τηατ ισ, τηε �ρµ�σ ρεϖενυε ιν τ = 2, εθυαλσ:

θ2 =

8
<
:
θΑ2 + θΒ2 = 2
 ιφ θΑ2 = θΒ2 = 
;

0 οτηερωισε.

Τηε χοµπλεµενταριτψ ασσυµπτιον δοεσ νοτ ονλψ κεεπ ουρ αναλψσισ τραχταβλε βυτ ισ αλσο νατυραλ

φορ αν εξπανδινγ �ρµ τηατ οργανιζεσ οϖεραλλ προδυχτιον ιν σπεχι�χ τασκσ ιν ωηιχη δι⁄ερεντ

αγεντσ σπεχιαλιζε. Τηε γαιν οφ σπεχιαλιζατιον ισ τηεν τηατ εαχη αγεντ χαν προδυχε τηε ουτπυτ


 > 1 βυτ �ναλ ουτπυτ ισ ρεαλιζεδ ονλψ ιφ βοτη τασκσ αρε περφορµεδ. Ιν χοντραστ, ιν τ = 1 αγεντ

Α περφορµσ βοτη τασκσ σο τηατ ωε χαν εξπρεσσ ουτπυτ λεϖελσ βψ α ονε−διµενσιοναλ θ1 2 φ0; 1γ:

Φορ σιµπλιχιτψ, ωε νορµαλιζε τηε χοµµον δισχουντ φαχτορ το 1 σο τηατ τηε �ρµ�σ τοταλ ρεϖενυε

οϖερ τηε τωο περιοδσ ισ γιϖεν βψ:9

Θ = θ1 + θ2:

Αν αγεντ ι 2 φΑ;Βγ ινχυρσ τηε χοστ οφ προδυχτιον:

Χ(θιτ; �) = (1� �)θιτ;

7Ιν τηε χονχλυσιον, ωε δισχυσσ ηοω το εξτενδ τηισ σετυπ ανδ ουρ ρεσυλτσ το α µορε νατυραλ οϖερλαππινγ

γενερατιον φραµεωορκ.
8Ασ ουρ ιντερεστ ισ το αναλψζε αν οργανιζατιον�σ χηοιχε οφ ιτσ ηιεραρχηιχαλ στρυχτυρε, ωε εµπλοψ βιναρψ

ουτπυτ λεϖελσ το κεεπ τηε µοδελ τραχταβλε ανδ αϖοιδ τεχηνιχαλ δι′χυλτιεσ ιν α δψναµιχ αδϖερσε σελεχτιον

µοδελ ωιτη λιµιτεδ χοµµιτµεντ.
9Ουρ ρεσυλτσ δο νοτ χηανγε ιφ ωε ασσυµε α δισχουντ ρατε � < 1 συχη τηατ 
� > 1:

8



φροµ αν ινδιϖιδυαλ ουτπυτ λεϖελ θιτ ιν περιοδ τ 2 φ1; 2γ: Τηε παραµετερ � 2 φ�
η; �λγ ρεπρεσεντσ

αγεντ ι�σ ε′χιενχψ ανδ 1 > � > 0. Αν αγεντ ισ ε′χιεντ, �η; ωιτη προβαβιλιτψ �; ανδ ινε′χιεντ,

�λ; ωιτη προβαβιλιτψ 1� �; ωηερε �� � �η � �λ > 0: Ωε δενοτε τηε εξπεχτεδ ε′χιενχψ οφ αν

αγεντ βψ ε� � ��η + (1 � �)�λ: Τηε τψπεσ οφ τηε τωο αγεντσ αρε δραων ινδεπενδεντλψ. Τηε

πριορ διστριβυτιονσ αρε πυβλιχ κνοωλεδγε. Αγεντσ κνοω τηειρ οων τψπεσ, ωηιλε τηε πρινχιπαλ

δοεσ νοτ οβσερϖε τηε τψπε οφ ειτηερ αγεντ.

Ιν ενϖιρονµεντσ ωηερε αγεντσ ωορκ χλοσελψ τογετηερ ατ σιµιλαρ τασκσ, ιτ ισ νατυραλ τηατ αν

αγεντ λεαρνσ σοµετηινγ αβουτ τηε οτηερ τηατ ισ νοτ οβσερϖεδ βψ τοπ µαναγεµεντ. Μορεοϖερ,

ωηεν διστινγυισηινγ βετωεεν εξπεριενχεδ ανδ υνεξπεριενχεδ ωορκερσ, τηερε εξιστσ αλσο αν

ασψµµετρψ ιν λεαρνινγ αβιλιτιεσ ιν τηατ αν εξπεριενχεδ ωορκερ ισ µορε λικελψ το λεαρν σοµε−

τηινγ αβουτ τηε υνεξπεριενχεδ ωορκερ τηαν ϖιχε ϖερσα. Ωε µοδελ τηεσε ιδεασ βψ ασσυµινγ

τηατ, βεφορε προδυχτιον σταρτσ ιν τ = 2, αγεντ Α λεαρνσ αγεντ Β�σ τψπε περφεχτλψ, ωηερεασ αγεντ

Β δοεσ νοτ λεαρν ανψτηινγ αβουτ αγεντ Α. Ωε στρεσσ τηατ τηισ ασσυµπτιον ισ αν εξτρεµε,

σιµπλε ιλλυστρατιον οφ τηε ιδεα τηατ αγεντ Α οβσερϖεσ ωιτη σοµε ποσιτιϖε προβαβιλιτψ σοµε−

τηινγ αβουτ αγεντ Β�σ τψπε, ωηερεασ αγεντ Β λεαρνσ λεσσ αβουτ αγεντ Α. Ιν τηε χονχλυδινγ

σεχτιον, ωε δισχυσσ τηε εξτεντιον το ωηερε αγεντ Α λεαρνσ αγεντ Β�σ τψπε ιµπερφεχτλψ.

Ρεγαρδινγ τηε χοντραχτυαλ ενϖιρονµεντ, ωε ασσυµε τηατ τηε πρινχιπαλ�σ λονγ τερµ χοµ−

µιτµεντ ισ λιµιτεδ ιν τηατ, ιν τ = 1; σηε χαννοτ χοµµιτ το ωαγε τρανσφερσ ανδ ουτπυτ λεϖελσ

φορ τ = 2: Τηισ χαπτυρεσ τηε πραχτιχαλ προβλεµσ τηατ πρεϖεντ ρεαλ λιφε λαβορ χοντραχτσ το χοϖερ

α ωορκερ�σ εντιρε λιφε σπαν. Ιν χοντραστ, τηε πρινχιπαλ ισ αβλε το µακε α λονγ τερµ χοµµιτµεντ

το τηε οργανιζατιον�σ ηιεραρχηιχαλ στρυχτυρε. Ιν παρτιχυλαρ, ωε διστινγυιση βετωεεν τωο οργα−

νιζατιον στρυχτυρεσ δενοτεδ βψ 	 2 φΗ; ς γ, ωηιχη δετερµινε τηε χοντραχτυαλ ρελατιονσηιπ

βετωεεν τηε πρινχιπαλ ανδ τηε τωο αγεντσ ιν τ = 2: Ωιτη τηε ηοριζονταλ ηιεραρχηψ 	 = Η,

τηε πρινχιπαλ χοµµυνιχατεσ ανδ ο⁄ερσ χοντραχτσ το βοτη αγεντσ διρεχτλψ. Ωιτη τηε ϖερτι−

χαλ ηιεραρχηψ 	 = ς , αγεντ Α βεχοµεσ αγεντ Β�σ συπεριορ ιν τηατ τηε πρινχιπαλ χαν ονλψ

χοµµυνιχατε ανδ ιντεραχτ ωιτη αγεντ Α.

Ηενχε, ουρ ιδεα ισ τηατ, ιν τ = 1, τηε πρινχιπαλ χοµµιτσ το τηε �ρστ περιοδ χοντραχτ

ωιτη αγεντ Α ανδ α ηιεραρχηιχαλ στρυχτυρε 	 2 φΗ; ς γ φορ τ = 2: Βεχαυσε αγεντ Α�σ τψπε ισ

πριϖατε ινφορµατιον, τηε �ρστ περιοδ χοντραχτ ισ χοντινγεντ ον αγεντ Α�σ ρεπορτ ον ηισ τψπε.
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Τηερεφορε, ωε εξπρεσσ τηε �ρστ περιοδ χοντραχτ �1 ασ:

�1 = φθ1(�
α
1); !1(�

α
1)γ

α2φη;λγ; (1)

ωηερε �α1 ισ αγεντ Α�σ ρεπορτ. Ατ τηε ενδ οφ τ = 1; τηε χοντραχτ ψιελδσ τηε πρινχιπαλ�σ ανδ τηε

αγεντ�σ παψο⁄σ οφ θ1 � !1 ανδ !1 � (1� �
α)θ1 ρεσπεχτιϖελψ. Τηε τιµινγ ιν τ = 1 ισ:

1.1 Τηε πρινχιπαλ χοµµιτσ το 	 2 φΗ; ς γ:

1.2 Τηε πρινχιπαλ ο⁄ερσ �1 το αγεντ Α:

1.3 Αγεντ Α ρεϕεχτσ ορ αχχεπτσ ανδ, υπον αχχεπτανχε, ρεπορτσ ηισ τψπε.

1.4 Τηε χοντραχτ ισ εξεχυτεδ φορ τ = 1:

Τηε πρινχιπαλ�σ ο⁄ερ ιν τ = 2 δεπενδσ ον τηε οργανιζατιον στρυχτυρε 	 2 φΗ; ς γ: ∆υε το

τηε χοµπλεµενταριτψ ιν προδυχτιον, τηεσε ο⁄ερσ σατισφψ θΑ2 = θΒ2: Τηερεφορε, ωε ονλψ νεεδ

το χονσιδερ σεχονδ περιοδ χοντραχτσ τηατ εξηιβιτ:

θ �
θ2
2
= θΑ2 = θΒ2: (2)

Ωιτη 	 = Η; τηε πρινχιπαλ ο⁄ερσ αγεντ Α ανδ Β ωαγεσ !Α ανδ !Β ρεσπεχτιϖελψ, φορ ουτπυτ

λεϖελ θ φροµ εαχη αγεντ. Ωε δενοτε βψ �Η2 τηε σετ οφ χοντραχτσ φορ τ = 2 τηατ σπεχιφψ εαχη

αγεντ�σ ουτπυτ λεϖελ θ; ανδ τηε ωαγε τρανσφερσ !Α ανδ !Β: Φορ τ = 2; τηε πρινχιπαλ�σ παψο⁄

ισ 2θ� !Α� !Β; ανδ αγεντ Α�σ ανδ αγεντ Β�σ παψο⁄σ αρε !Α� (1� �
α)θ ανδ !Β � (1� �

β)θ

ρεσπεχτιϖελψ. Ωιτη 	 = Η, τηε τιµινγ ιν τ = 2 ισ:

2.1 Αγεντ Α λεαρνσ αγεντ Β�σ τψπε.

2.2 Τηε πρινχιπαλ ο⁄ερσ �Η2 το αγεντσ Α ανδ Β:

2.3 Τηε αγεντσ αχχεπτσ/ρεϕεχτσ. Υπον αχχεπτανχε, τηε αγεντσ σενδ ρεπορτσ το τηε πρινχιπαλ.

2.4 Χοντραχτ ωιτη αγεντ Α ανδ Β αρε εξεχυτεδ φορ τ = 2:
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Ωιτη 	 = ς; τηε πρινχιπαλ µακεσ αν ο⁄ερ αβουτ τοταλ προδυχτιον θ2 = 2θ ανδ α γρανδ

ωαγε τρανσφερ Ω το αγεντ Α: Ιν τυρν, αγεντ Α βαργαινσ ωιτη αγεντ Β αβουτ α ωαγε τρανσφερ

!Β φορ αν ουτπυτ θ: Ωε δενοτε βψ �
ς
2 τηε πρινχιπαλ�σ ο⁄ερ το αγεντ Α φορ τ = 2; ωηιχη

σπεχι�εσ θ2 ανδ Ω: Ιν τυρν, αγεντ Α�σ ο⁄ερ το αγεντ Β σπεχι�εσ θ ανδ !Β: Φορ τ = 2; τηε

πρινχιπαλ�σ παψο⁄ ισ θ2 �Ω; ωηιλε αγεντ Α�σ ανδ αγεντ Β�σ παψο⁄σ αρε Ω � (1� �α)θ � !Β

ανδ !Β � (1� �
β)θ ρεσπεχτιϖελψ. Ωιτη 	 = ς; τηε τιµινγ ιν τ = 2 ισ:

2.1 Αγεντ Α λεαρνσ αγεντ Β�σ τψπε.

2.2 Τηε πρινχιπαλ ο⁄ερσ �ς2 το αγεντ Α:

2.3 Αγεντ Α αχχεπτσ/ρεϕεχτσ. Υπον αχχεπτανχε, αγεντ Α σενδσ ρεπορτσ το τηε πρινχιπαλ ανδ

µακε αν ο⁄ερ το αγεντ Β:

2.4 Αγεντ Β αχχεπτσ/ρεϕεχτσ τηε ο⁄ερ οφ αγεντ Α.

2.5 Χοντραχτσ αρε εξεχυτεδ φορ τ = 2:

Ουρ αππροαχη ισ το αναλψζε τηε ιµπλεµενταβλε ουτχοµεσ υνδερ α ηοριζονταλ ανδ α ϖερτιχαλ

ηιεραρχηψ ανδ τηεν χοµπαρε τηειρ οπτιµαλιτψ φροµ τηε πρινχιπαλ�σ περσπεχτιϖε. Ωε σταρτ ουρ

αναλψσισ ωιτη τηε ηοριζονταλ ηιεραρχηψ.

4 Ηοριζονταλ Ηιεραρχηψ (	 = Η)

Ιν τηε ηοριζονταλ ηιεραρχηψ, τηε πρινχιπαλ µακεσ α σεχονδ περιοδ χοντραχτ ο⁄ερ το βοτη αγεντσ.

Υσινγ τηε εξπρεσσιον ιν (2), τηε σετ οφ τηε σεχονδ περιοδ ο⁄ερσ, �Η2 ; ιν τηε ηοριζονταλ ηιεραρχηψ

χαν βε εξπρεσσεδ ασ:

�Η2 = φθ(�
α
Α; �

β
Α; �

β
Β); !Α(�

α
Α; �

β
Α; �

β
Β); !Β(�

α
Α; �

β
Α; �

β
Β)γ

α;β2φη;λγ; (3)

ωηερε �αΑ ισ αγεντ Α�σ ρεπορτ ον ηισ οων τψπε, �
β
Α ισ αγεντ Α�σ ρεπορτ ον Β�σ τψπε, ανδ �

β
Β ισ

αγεντ Β�σ ρεπορτ ον ηισ οων τψπε ιν τ = 2: Νοτε τηατ �Η2 δεπενδσ ον τηε ηιστορψ οφ τηε γαµε

� ιν παρτιχυλαρ, αγεντ Α�σ ρεπορτ αβουτ ηισ τψπε, �α1; φροµ τ = 1:
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Αν αδϖανταγε οφ τηε ηοριζονταλ ηιεραρχηψ ισ τηατ τηε πρινχιπαλ χαν διρεχτλψ χοµµυνιχατε

ωιτη βοτη αγεντσ, τηυσ χαν ηαϖε µορε χοντρολ. Ασ ωελλ εσταβλισηεδ ιν τηε λιτερατυρε, συχη

διρεχτ χοµµυνιχατιονσ ωιτη βοτη αγεντσ εναβλε τηε πρινχιπαλ το ελιχιτ ανψ σηαρεδ ινφορµατιον

ατ νο χοστ.10 Βεχαυσε αγεντ Α ανδ Β σηαρε τηε ινφορµατιον αβουτ αγεντ Β�σ τψπε, τηε

πρινχιπαλ χαν ελιχιτ τηισ ινφορµατιον χοστλεσσλψ. Τηυσ, ωε ηαϖε τηε λεµµα βελοω.

Λεµµα 1 Ωιτη 	 = Η; αγεντ Β�σ τψπε ισ ρεϖεαλεδ ατ ζερο χοστσ.

Λεµµα 1 στατεσ τηατ, ιν τηε ηοριζονταλ ηιεραρχηψ, ονλψ τηε πριϖατε ινφορµατιον αβουτ

αγεντ Α µαττερσ ανδ ινφορµατιον ρεϖελατιον οφ αγεντ Β ισ νοτ αν ισσυε. Τηερεφορε, ωε χαν

τρεατ τηε σιτυατιον ασ ιφ �β ισ πυβλιχλψ οβσερϖαβλε ανδ χαν σπεχιφψ χοντραχτσ ασ ιφ τηεψ χονδιτιον

διρεχτλψ ον αγεντ Β�σ τρυε τψπε. Τηισ αλλοωσ υσ το εξπρεσσ �Η2 ασ φολλοωσ:

�Η2 = φθ
αβ; !αβΑ ; !

αβ
Β γ

α;β2φη;λγ;

ωιτη θαβ � θ(�αΑ; �
β; �β), !αβΑ � !Α(�

α
Α; �

β; �β), ανδ !αβΒ � !β(�
α
Α; �

β; �β):

Ιν αδδιτιον, Λεµµα 1 ιµπλιεσ τηατ αγεντ Β ρεχειϖεσ νο ρεντ. Τηερεφορε, τηε ωαγε τρανσφερ

το αγεντ Β ιν τηε οπτιµαλ χοντραχτ ισ:

!αβΒ = (1� �
β)θαβ: (4)

Ηαϖινγ εσταβλισηεδ τηεσε πρελιµιναρψ ρεσυλτσ, ωε τυρν το τηε ισσυε οφ ιντεριµ ινφορµατιον

ρεϖελατιον. Ιν ουρ δψναµιχ φραµεωορκ, τηε δεγρεε οφ ιντερµεδιατε ινφορµατιον ρεϖελατιον,

δετερµινεδ βψ τηε πρινχιπαλ�σ ο⁄ερ ιν τ = 1; πλαψσ α χρυχιαλ ρολε. Τηυσ, ωε χλασσιφψ τηε

�ρστ περιοδ χοντραχτ �1 βψ τηε δεγρεε οφ ινφορµατιον ρεϖελατιον ιτ ινδυχεσ. Φορ εξποσιτιοναλ

πυρποσε, ιτ συ′χεσ το φοχυσ ον τηε τωο εξτρεµεσ: α νον−ρεϖεαλινγ (ποολινγ) ανδ α φυλλψ

ρεϖεαλινγ (σεπαρατινγ) ο⁄ερ. Τηεσε εξτρεµεσ χορρεσπονδ το σεττινγσ ωηερε αγεντ Α πλαψσ α

δετερµινιστιχ ρεπορτινγ στρατεγψ ιν τ = 1: Ιν Αππενδιξ 2 ωε δεµονστρατε τηατ ουρ θυαλιτατιϖε

ρεσυλτ (ιν παρτιχυλαρ, τηε οπτιµαλιτψ οφ τηε ϖερτιχαλ ηιεραρχηψ) ισ ροβυστ το τηε χονσιδερατιον

10Ονε ωαψ ισ το ρεθυιρε βοτη αγεντσ το ρεπορτ αβουτ τηειρ σηαρεδ ινφορµατιον, ανδ σεϖερελψ πυνιση τηεµ

ωηεν τηε ρεπορτσ αρε χοντραδιχτορψ. Φορ µορε ελαβορατε σχηεµεσ τηατ ελιχιτ χοµµον πριϖατε ινφορµατιον, σεε

Μοορε ανδ Ρεπυλλο (1988) ανδ Μασκιν ανδ Τιρολε (1999) φορ εξαµπλε.
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οφ σεµι−σεπαρατινγ, ωηερε αγεντ Α εµπλοψσ α µιξεδ ρεπορτινγ στρατεγψ ανδ ινφορµατιον

ρεϖελατιον ισ ονλψ παρτιαλ.

4.1 Ποολινγ ιν τηε Ηοριζονταλ Ηιεραρχηψ

Α �ρστ περιοδ χοντραχτ τηατ δοεσ νοτ ελιχιτ ανψ ινφορµατιον φροµ αγεντ Α ινδυχεσ τηε σαµε

ουτχοµε ιν τ = 1 ρεγαρδλεσσ οφ αγεντ Α�σ τψπε. Συχη α χοντραχτ ισ, τηερεφορε, εθυιϖαλεντ το

α �ρστ περιοδ χοντραχτ τηατ ισ ινδεπενδεντ οφ αγεντ Α�σ ρεπορτ αβουτ ηισ τψπε. Ηενχε, ωε

εξπρεσσ ποολινγ χοντραχτσ βψ χοντραχτσ ωιτη τηε φολλοωινγ στρυχτυρε:

�ΗΠ1 = φθ1; !1γ.

Βψ δε�νιτιον, α ποολινγ χοντραχτ δοεσ νοτ λεαδ το ανψ ινφορµατιον ρεϖελατιον. Ηενχε, ιν τηε

βεγιννινγ οφ τ = 2, τηε πρινχιπαλ στιλλ ηασ τηε πριορ βελιεφ � τηατ αγεντ Α ισ οφ τψπε �η: Τηε

πρινχιπαλ�σ ο⁄ερ ιν τ = 2 ισ α χοµβινατιον:

�Η2 = φθ
αβ; !αβΑ ; !

αβ
Β γ

α;β2φη;λγ;

ωηερε α ρεπρεσεντσ αγεντ Α�σ ρεπορτ αβουτ ηισ τψπε ιν τ = 2 ανδ β ισ, βψ Λεµµα 1, αγεντ Β�σ

αχτυαλ τψπε. Υσινγ (4), τηε πρινχιπαλ�σ σεθυεντιαλλψ ρατιοναλ ο⁄ερ �Η2 µαξιµιζεσ ηερ εξπεχτεδ

παψο⁄ φορ τ = 2:

�Η2 = �[�(θηη � !ηηΑ + �ηθηη) + (1� �)(θηλ � !ηλΑ + �
λθηλ)]

+(1� �)[�(θλη � !ληΑ + �
ηθλη) + (1� �)(θλλ � !λλΑ + �

λθλλ)];

συβϕεχτ το αγεντ Α�σ παρτιχιπατιον χονστραιντσ,

!αβΑ � (1� �
α)θαβ � 0; α; β 2 φη; λγ; (5)

ανδ ηισ ινχεντιϖε χοµπατιβιλιτψ χονστραιντσ,

!αβΑ � (1� �
α)θαβ � !α

0β
Α � (1� �α)θα

0β; α; α0; β 2 φη; λγ: (6)

Τηε µαξιµιζατιον προβλεµ ιλλυστρατεσ τηατ τηε πρινχιπαλ φαχεσ τηε φαµιλιαρ τραδε−ο⁄ βε−

τωεεν ινφορµατιον ρεντ ανδ ε′χιεντ προδυχτιον. Ε⁄εχτιϖελψ, τηε πρινχιπαλ ηασ τωο οπτιονσ
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ιν τ = 2: Ηερ �ρστ οπτιον ισ το ο⁄ερ αγαιν α ποολινγ χοντραχτ ιν τ = 2 ωιτη ρεσπεχτ το αγεντ

Α�σ τψπε. Αλτερνατιϖελψ, σηε χαν ο⁄ερ α χοντραχτ τηατ σεπαρατεσ τηε τψπεσ οφ αγεντ Α ιν

τ = 2: Ιν ουρ σετυπ ωιτη βιναρψ ουτπυτ λεϖελσ, τηε ονλψ ωαψ το αχηιεϖε σεπαρατιον ιν τ = 2

ισ το αβανδον προδυχτιον δεπενδινγ ον τηε αγεντσ� τψπεσ. Τηε πρινχιπαλ�σ σεθυεντιαλλψ ρα−

τιοναλ δεχισιον ωηετηερ το σεπαρατε ορ ποολ δεπενδσ ον ηερ βελιεφσ ανδ, φορ χονϖενιενχε, ωε

ιντροδυχε τηε φολλοωινγ δε�νιτιον.

∆ε�νιτιον 1 Λετ ⊥�(ξ) � �λ+ξ
�η+ξ

; ωηερε ξ 2 Ρ+:

Ωιτη τηε δε�νιτιον αβοϖε, ωε χαν χηαραχτεριζε τηε σεθυεντιαλλψ ρατιοναλ χοντραχτσ ιν τ = 2;

αφτερ α ποολινγ χοντραχτ ιν περιοδ τ = 1:

Λεµµα 2 Γιϖεν �ΗΠ1 ιν τ = 1; τηε σεθυεντιαλλψ ρατιοναλ χοντραχτσ �Η2 ιν τ = 2 ισ:

ι) Ιφ � � ⊥�(�λ), τηεν θαβ = 
; !αβΑ = (1� �
λ)
; α; β 2 φη; λγ:

ιι) Ιφ � 2 (⊥�(�λ); ⊥�(�η)], τηεν θηη = θηλ = θλη = 
; θλλ = 0; !ηηΑ = !ληΑ = (1 � �λ)
;

!ηλΑ = (1� �
η)
; !λλΑ = 0:

ιιι) Ιφ � > ⊥�(�η), τηεν θηβ = 
; θλβ = 0; !ηβΑ = (1� �
η)
; !λβΑ = 0; β 2 φη; λγ:

Τηε λεµµα σηοωσ τηατ τηε πρινχιπαλ µακεσ α ποολινγ ο⁄ερ αλσο φορ τ = 2 ωηεν ηερ βελιεφ

αβουτ αγεντ Α�σ τψπε ισ ρελατιϖελψ πεσσιµιστιχ. Τηισ ισ βεχαυσε α µορε πεσσιµιστιχ βελιεφ

σηιφτσ τηε τραδε−ο⁄ βετωεεν ποολινγ ανδ σεπαρατιον τοωαρδσ τηε φορµερ. Αχχορδινγ το τηε

λεµµα, τηε πρινχιπαλ�σ δεχισιον το ποολ ορ το σεπαρατε ιν τ = 2 δεπενδσ αλσο ον αγεντ Β�σ

τψπε. Μορε σπεχι�χαλλψ, τηε πρινχιπαλ ισ µορε εαγερ το ποολ ωηεν αγεντ Β ισ ε′χιεντ. Τηε

ρεασον ισ τηατ, ωηεν αγεντ Β ισ ε′χιεντ, προδυχτιον ισ µορε ϖαλυαβλε σο τηατ τηε πρινχιπαλ

πρεφερσ ενσυρινγ α ποσιτιϖε ουτπυτ. Τηερεφορε, τηε δισαδϖανταγε οφ σεπαρατιον τηατ ουτπυτ ισ

σοµετιµεσ αβανδονεδ βεχοµεσ ρελατιϖελψ µορε χοστλψ το τηε πρινχιπαλ.

Ωιτη Λεµµα 2, ωε χαν οβταιν τηε πρινχιπαλ�σ οπτιµαλ παψο⁄ φροµ τηε ποολινγ ο⁄ερ ιν

τ = 1:
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Προποσιτιον 1 Ωιτη 	 = Η, τηε πρινχιπαλ�σ µαξιµυµ εξπεχτεδ παψο⁄ φροµ ποολινγ εθυαλσ

�ΗΠ =

8
>>><
>>>:

�λ + (�λ + ε�)
 ιφ � � ⊥�(�λ);

�λ + �(2� �)(�η + �λ)
 ιφ � 2 (⊥�(�λ); ⊥�(�η)];

�λ + �(�η + ε�)
 ιφ � > ⊥�(�η):

4.2 Σεπαρατινγ Στρατεγψ ιν τηε Ηοριζονταλ Ηιεραρχηψ

Α �ρστ περιοδ σεπαρατιον χοντραχτ, �ΗΣ1 ; δεπενδσ ον αγεντ Α�σ ρεπορτ αβουτ ηισ τψπε ανδ

ινδυχεσ ηιµ το ρεπορτ ηισ τψπε τρυτηφυλλψ. Τηυσ, τηε �ρστ περιοδ σεπαρατιον χοντραχτ ηασ α

στρυχτυρε ασ ιν (1) ανδ σατισ�εσ ινχεντιϖε χονστραιντσ τηατ ενσυρε αγεντ Α�σ τρυτηφυλ ρεπορτ.

Γιϖεν α σεπαρατιον χοντραχτ ιν τ = 1, ιτ ισ στραιγητφορωαρδ το δεριϖε τηε σεθυεντιαλλψ

ρατιοναλ χοντραχτ ο⁄ερ ιν τ = 2. Σεπαρατιον χοντραχτ αρε, περ δε�νιτιον, φυλλψ ρεϖεαλινγ σο

τηατ τηε πρινχιπαλ λεαρνσ αγεντ Α�σ τψπε ωιτη χερταιντψ. Τηισ τογετηερ ωιτη Λεµµα 1 ιµπλιεσ

τηατ τηε πρινχιπαλ µακεσ ο⁄ερσ ιν τ = 2 ασ ιφ υνδερ φυλλ ινφορµατιον.

Λεµµα 3 Γιϖεν �ΗΣ1 ιν τ = 1, τηε σεθυεντιαλλψ ρατιοναλ χοντραχτσ �Η2 ιν τ = 2 ισ θ
αβ = 
;

!αβΑ = (1� �
α)
; !αβΒ = (1� �

β)
; α; β 2 φη; λγ:

∆υε το τηε βιναρψ προδυχτιον ποσσιβιλιτιεσ, α �ρστ περιοδ σεπαρατινγ χοντραχτ �ΗΣ νεχεσ−

σαριλψ εξηιβιτσ τηε ουτπυτ σχηεδυλε θη1 = 1 ανδ θ
λ
1 = 0. Τογετηερ ωιτη Λεµµα 3, ιτ φολλοωσ

τηατ, βεχαυσε α σεπαρατινγ χοντραχτ ηασ το ινδυχε αγεντ Α το ρεπορτ ηισ τψπε τρυτηφυλλψ, τηε

φολλοωινγ τωο ινχεντιϖε χονστραιντσ µυστ βε σατισ�εδ ιν τ = 1

!η1 � (1� �
η) � !λ1 + 
��; (7)

!λ1 � !
η
1 � (1� �

λ): (8)

Ινεθυαλιτψ (7) γυαραντεεσ τηατ τηε παψο⁄ οφ τηε ε′χιεντ αγεντ Α ισ ηιγηερ ωηεν ηε

τρυτηφυλλψ ρεπορτσ ηισ τψπε τηαν ωηεν ηε µισρεπρεσεντσ ιτ. Τηε ΛΗΣ οφ (7) ισ αγεντ Α�σ τοταλ

παψο⁄ οϖερ βοτη περιοδσ ιφ ηε ρεϖεαλσ ηισ τψπε ηονεστλψ ιν τ = 1, βεχαυσε ηε ρεχειϖεσ νο ρεντ

ιν τ = 2. Τηε ΡΗΣ οφ (7) ισ αγεντ Α�σ αγγρεγατε παψο⁄ ιφ ηε µισρεπρεσεντσ ηισ τψπε ασ �λ ιν

τ = 1: Ιν συχη α χασε, τηε αγεντ µυστ προδυχε θλ1 = 0 φορ α ωαγε !
λ
1 ιν τ = 1; ανδ εξπεχτσ α

ρεντ οφ !λβΑ � (1� �
η)
 = 
�� φροµ τηε σεθυεντιαλ ρατιοναλ χοντραχτ ιν τ = 2.
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Τηε χοντραχτ �ΗΣ1 µυστ αλσο σατισφψ (8), τηε ινχεντιϖε χονστραιντ οφ τηε ινε′χιεντ τψπε.

Τηε ΛΗΣ οφ (8) ισ αγεντ Α�σ τοταλ παψο⁄ οϖερ τηε τωο περιοδσ ωηεν ηε ρεπορτσ ηισ τρυε τψπε

ιν τ = 1: Ιν τηε χασε οφ τρυτη−τελλινγ, τηε αγεντ προδυχεσ θλ1 = 0 ωιτη τηε ωαγε τρανσφερ

!λ1 ιν τ = 1; ανδ ρεχειϖεσ ζερο ρεντ ιν τ = 2: Τηε ΡΗΣ οφ (8) ισ τηε αγεντ�σ τοταλ παψο⁄

ιφ ηε µισρεπορτσ ηισ τψπε ασ �η ιν τ = 1: Τηε µισρεπορτινγ αγεντ ρεχειϖεσ !η1 φορ θ
η
1 = 1

ιν τ = 1; ανδ ηε ισ ο⁄ερεδ τηε χοντραχτ ιν τ = 2 τηατ ωουλδ ψιελδ ηιµ α νεγατιϖε παψο⁄,

!ηβΑ � (1 � �
λ)
 = ���
. Ηενχε, αφτερ µισρεπορτινγ ηισ τψπε ασ �η ιν τ = 1; τηε αγεντ ωιλλ

νοτ τακε τηε πρινχιπαλ�σ ο⁄ερ ιν τ = 2: Τηε αγεντ, τηερεφορε, χαν γυαραντεε ηιµσελφ τηε παψο⁄

!η1 � (1� �
λ) βψ ρεπορτινγ �η ιν τ = 1: Ασ µεντιονεδ ιν τηε ιντροδυχτιον, τηε ινε′χιεντ αγεντ

αχηιεϖεσ τηισ παψο⁄ βψ εµπλοψινγ τηε τακε−τηε−µονεψ−ανδ−ρυν στρατεγψ.

Λεµµα 4 Ωιτη 	 = Η; τηε πρινχιπαλ χαννοτ ιµπλεµεντ α σεπαρατινγ χοντραχτ ιν τ = 1:

Αχχορδινγ το Λεµµα 4, ινφορµατιον ρεϖελατιον ιν τ = 1 ισ νοτ ποσσιβλε ιν τηε ηοριζονταλ

ηιεραρχηψ. ∆υε το τηε λαχκ οφ χοµµιτµεντ, τηε πρινχιπαλ χαννοτ προµισε αγεντ Α ανψ ρεντ

ιν τ = 2 ιφ ηε ρεϖεαλεδ ηισ τρυε τψπε ιν τ = 1: Ηενχε, το ινδυχε α τρυτηφυλ ρεπορτ φροµ

τηε ε′χιεντ τψπε ιν τ = 1; τηε συµ οφ ρεντσ οϖερ τωο περιοδσ µυστ βε παιδ ιν τ = 1: Φορ

τηισ ρεασον, τηε πρινχιπαλ µυστ ο⁄ερ τηε ε′χιεντ τψπε α λαργε ωαγε τρανσφερ ιν τ = 1: Τηισ

γενερουσ �ρστ περιοδ ο⁄ερ ισ, ηοωεϖερ, αλσο αττραχτιϖε το τηε ινε′χιεντ τψπε ιφ ηε εµπλοψσ τηε

τακε−τηε−µονεψ−ανδ−ρυν στρατεγψ. Ιτ φολλοωσ φροµ τηισ δισχυσσιον τηατ τηε ιµποσσιβιλιτψ οφ αν

ινχεντιϖε χοµπατιβλε σεπαρατινγ ο⁄ερ ιν τ = 1 ρεσυλτσ φροµ α τενσιον βετωεεν τωο δι⁄ερεντ

προβλεµσ τηατ αρε δυε το λιµιτεδ χοµµιτµεντ:

1) Α �ηολδ−υπ� προβλεµ ασσοχιατεδ ωιτη τηε ε′χιεντ αγεντ.

2) Α �τακε−τηε−µονεψ−ανδ−ρυν� προβλεµ ασσοχιατεδ ωιτη τηε ινε′χιεντ αγεντ.

∆υε το τηισ τενσιον, τηε πρινχιπαλ χαν ονλψ µακε τηε ποολινγ ο⁄ερ ιν τ = 1: Τηυσ,

Προποσιτιον 1 πρεσεντσ τηε πρινχιπαλ�σ µαξιµυµ παψο⁄ ιν τηε ηοριζονταλ ηιεραρχηψ.
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5 ςερτιχαλ Ηιεραρχηψ (	 = ς )

Ωε νεξτ αναλψζε τηε στρυχτυρε οφ οπτιµαλ χοντραχτσ ιν τηε ϖερτιχαλ ηιεραρχηψ. Ηερε, ονλψ αγεντ

Α ηασ α χοµµυνιχατιον χηαννελ το τηε πρινχιπαλ. Ωε χαν τηερεφορε εξπρεσσ τηε πρινχιπαλ�σ

σεχονδ περιοδ χοντραχτ ωιτη 	 = ς ασ:

�ς2 = φθ2(�
α
Α; �

β
Α); Ω (�

α
Α; �

β
Α)γ

α;β2φη;λγ: (9)

ωηερε �αΑ ανδ �
β
Α αρε αγεντ Α�σ ρεπορτσ ον ηισ οων ανδ αγεντ Β�σ τψπε ρεσπεχτιϖελψ. Ιν αδδι−

τιον, ωε χαν ρεστριχτ αττεντιον το θ2(�
α
Α; �

β
Α) 2 φ0; 2
γ, δυε το τηε χοµπλεµενταρψ προδυχτιον

τεχηνολογψ. Υνλικε τηε χασε ωιτη 	 = Η; τηε χοντραχτ ισ νοτ χοντινγεντ ον αγεντ Β�σ ρεπορτ

�βΒ βεχαυσε, ωιτη 	 = ς , τηε πρινχιπαλ χαν χοµµυνιχατε ονλψ ωιτη αγεντ Α.

Ιφ αγεντ Α αχχεπτσ τηε ο⁄ερ �ς2 , ηε συβσεθυεντλψ µακεσ α τακε−ιτ−ορ−λεαϖε−ιτ ο⁄ερ φθ; !Βγ

το αγεντ Β. Βεχαυσε αγεντ Α οβσερϖεσ αγεντ Β�σ τψπε, αγεντ Β ηασ νο πριϖατε ινφορµατιον

ϖισ−◊−ϖισ αγεντ Α; ανδ ηενχε αγεντ Α προϖιδεσ νο ρεντ το αγεντ Β: Ιν παρτιχυλαρ, αγεντ Α�σ

ο⁄ερ το αγεντ Β ισ:

θ = θ2=2 ανδ !Β = (1� �
β)θ2=2: (10)

Φροµ (10) ιτ φολλοωσ τηατ αγεντ Α�σ παψο⁄ φροµ τηε πρινχιπαλ�σ σεχονδ περιοδ ο⁄ερ θ2 ανδ

Ω ισ:

Ω � (1� �α)θ2=2� !Β = Ω � [2� (�α + �β)]θ2=2:

Αγαιν, ωε διστινγυιση τωο δι⁄ερεντ στρατεγιεσ ρεγαρδινγ ινφορµατιον ρεϖελατιον ιν τηε �ρστ

περιοδ: α ποολινγ ανδ α σεπαρατινγ ο⁄ερ. Ωε �ρστ χονσιδερ τηε χασε ιν ωηιχη τηε πρινχιπαλ

µακεσ α ποολινγ ο⁄ερ ιν τ = 1:

5.1 Ποολινγ ιν τηε ςερτιχαλ Ηιεραρχηψ

Τηε στρυχτυρε οφ τηε ποολινγ χοντραχτ ιν τ = 1 ωιτη 	 = ς ισ τηε σαµε ασ φορ 	 = Η:

�ς Π1 = φθ1; !1γ:
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Ωιτη ποολινγ ιν τ = 1; τηε πρινχιπαλ δοεσ νοτ λεαρν αγεντ Α�σ πριϖατε ινφορµατιον. Βεχαυσε

τηε πρινχιπαλ χαννοτ χοµµυνιχατε ωιτη αγεντ Β, αγεντ Α ηασ, φροµ τηε πρινχιπαλ�σ περσπεχ−

τιϖε, πριϖατε ινφορµατιον αβουτ βοτη ηισ οων ανδ αγεντ Β�σ τψπε. Ηενχε, τηε σιτυατιον ιν

τ = 2 ισ εθυιϖαλεντ το τηε πρινχιπαλ φαχινγ αν αγεντ Α ωιτη τηρεε ποσσιβλε τψπεσ �η � 2�η;

�µ � �η + �λ, ανδ �λ � 2�λ ωιτη τηε ρεσπεχτιϖε προβαβιλιτιεσ ∋η � �2, ∋µ � 2�(1� �), ανδ

∋λ � (1� �)2. Αν ο⁄ερ (θ2;Ω ) ψιελδσ α τψπε �
ϕ τηε παψο⁄:

Ω � (2��ϕ)θ2=2; ϕ 2 φη;µ; λγ:

Τηε σεχονδ περιοδ σεθυεντιαλ ρατιοναλ χοντραχτ �ς2 µαξιµιζεσ τηε πρινχιπαλ�σ παψο⁄ φορ

τ = 2 υνδερ τηε αγεντ�σ πριϖατε ινφορµατιον αβουτ �. Τηυσ, ωε χαν εξπρεσσ τηε πρινχιπαλ�σ

σεχονδ περιοδ χοντραχτ ασ:

�ς2 = φθ
ϕ
2; Ω

ϕγϕ2φη;µ;λγ:

Τηε πρινχιπαλ�σ προβλεµ ιν τ = 2 ισ τηεν το µαξιµιζε:

Ξ

ϕ2φη;µ;λγ

∋ϕ(θϕ2 �Ω
ϕ);

συβϕεχτ το τηε παρτιχιπατιον χονστραιντσ,

Ω ϕ � (2��ϕ)θϕ2=2 � 0; ϕ 2 φη;µ; λγ; (11)

ανδ τηε ινχεντιϖε χονστραιντσ,

Ω ϕ � (2��ϕ)θϕ2=2 � Ω
ϕ0 � (2��ϕ)θϕ

0

2 =2; ϕ; ϕ0 2 φη;µ; λγ: (12)

Ιν ορδερ το σηοω ηοω τηε σολυτιον δεπενδσ ον τηε πρινχιπαλ�σ πριορ βελιεφ �, ωε ιντροδυχε

τηε φολλοωινγ τωο παραµετερσ.

∆ε�νιτιον 2 Λετ � � 1�
θ

��
�η+�λ

ανδ � � 2(�η+�λ)

3�η+�λ
:

Ωε χαν εασιλψ ϖεριφψ τηατ � < �: Ωιτη τηεσε τωο παραµετερσ, ωε χαν χηαραχτεριζε τηε

σεθυεντιαλ ρατιοναλ χοντραχτ �ς2 .
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Λεµµα 5 Γιϖεν �ς Π1 ιν τ = 1; τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ �ς2 ιν τ = 2 ισ:

ι) Ιφ � � �, τηεν θϕ2 = 2
; Ω
ϕ = (2��λ)
; ϕ 2 φη;µ; λγ:

ιι) Ιφ � 2 (�; �], τηεν θη2 = θ
µ
2 = 2
; θ

λ
2 = 0; Ω

η = Ωµ = (2��µ)
 ανδ Ω λ = 0:

ιιι) Ιφ � > �, τηεν θη2 = 2
; θ
µ
2 = θ

λ
2 = 0; Ω

η = (2��η)
 ανδ Ωµ = Ω λ = 0:

Τηε λεµµα σηοωσ τηατ ωηεν � ισ σµαλλ, τηε πρινχιπαλ ισ βεττερ ο⁄ ποολινγ αλλ τηρεε τψπεσ

ανδ, τηερεφορε, προϖιδε ινφορµατιον ρεντσ το τψπεσ �µ ανδ �η. Τηεσε ινφορµατιον ρεντσ

εναβλε τηε πρινχιπαλ το ενσυρε προδυχτιον φορ αλλ τψπεσ. Τηισ ισ οπτιµαλ ωηεν � ισ σµαλλ σο

τηατ τηε πρινχιπαλ ισ λικελψ το φαχε τψπε �λ.

Ωηεν � ισ λαργε, τηε πρινχιπαλ ισ χον�δεντ τηατ βοτη αγεντ Α ανδ Β αρε ε′χιεντ. Ασ

α ρεσυλτ, τηε πρινχιπαλ χηοοσεσ το σεπαρατε τψπε �η φροµ τηε οτηερ τωο, τηερεβψ σαϖινγ

ινφορµατιον ρεντ χοµπλετελψ. Αλτηουγη τηερε ωιλλ βε νο ουτπυτ ιν τηε χασε οφ �µ ανδ �λ,

τηε πρινχιπαλ ισ χον�δεντ ενουγη τηατ συχη χασεσ αρε υνλικελψ το βε ρεαλιζεδ.

Ιν τηε ιντερµεδιατε χασε, ωηερε ιτ ισ λικελψ ενουγη τηατ ατ λεαστ ονε οφ τηε αγεντσ ισ

ε′χιεντ, τηε πρινχιπαλ σεπαρατεσ �λ φροµ τψπεσ �µ ανδ �η: Σηε τηερεβψ σαϖεσ ον παψινγ αν

ινφορµατιον ρεντ το �µ ατ τηε εξπενσε οφ φοργοινγ προδυχτιον βψ τψπε �λ. Φορ � 2 (�; �];

συχη σεπαρατιον ισ πρεφεραβλε βεχαυσε ιτ ισ υνλικελψ τηατ τηε πρινχιπαλ ωιλλ φαχε τψπε �λ, βυτ

ιτ ισ στιλλ λικελψ ενουγη τηατ τηε πρινχιπαλ ωιλλ φαχε τψπε �µ:

Ωιτη Λεµµα 5 ωε χαν χοµπυτε τηε πρινχιπαλ�σ οπτιµαλ παψο⁄ φροµ τηε ποολινγ στρατεγψ

ιν τηε ϖερτιχαλ ηιεραρχηψ. Ωε σηοω τηατ τηισ παψο⁄ ισ αλωαψσ σµαλλερ τηαν ηερ παψο⁄ ιν τηε

ηοριζονταλ ηιεραρχηψ ιν Προποσιτιον 1.

Προποσιτιον 2 Ωιτη 	 = ς; τηε πρινχιπαλ�σ µαξιµυµ εξπεχτεδ παψο⁄ φροµ ποολινγ ισ:

�ς Π =

8
>>><
>>>:

�λ + 2�λ
 ιφ � � �;

�λ + [1� (1� �)2] (�η + �λ)
 ιφ � 2 (�; �];

�λ + 2�2�η
 ιφ � > �:

Τηε πρινχιπαλ�σ παψο⁄ φροµ τηε ποολινγ στρατεγψ ωιτη 	 = ς ισ στριχτλψ σµαλλερ τηαν ηερ παψο⁄

ωιτη 	 = Η.
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Τηε ρεσυλτ τηατ τηε πρινχιπαλ�σ παψο⁄ φροµ τηε ποολινγ στρατεγψ ιν τηε ϖερτιχαλ ηιεραρχηψ

ισ αλωαψσ σµαλλερ τηαν ηερ οπτιµαλ παψο⁄ ιν τηε ηοριζονταλ ηιεραρχηψ ισ ιντυιτιϖε. Ιν τηε

ηοριζονταλ ηιεραρχηψ, τηε πρινχιπαλ χαν εξτραχτ αγεντ Β�σ πριϖατε ινφορµατιον ατ νο χοστ. Ιν

τηε ϖερτιχαλ ηιεραρχηψ, ηοωεϖερ, τηε πρινχιπαλ χαννοτ δο σο βεχαυσε σηε χαν χοµµυνιχατε

ονλψ ωιτη αγεντ Α: Ε⁄εχτιϖελψ, συχη α ρεστριχτιον ινχρεασεσ αγεντ Α�σ πριϖατε ινφορµατιον ανδ

µακεσ ιτ µορε χοστλψ φορ τηε πρινχιπαλ το εξτραχτ ιτ. Τηε ρεσυλτ χλαρι�εσ τηατ, ιφ τηε πρινχιπαλ

χαν βενε�τ φροµ τηε ϖερτιχαλ ηιεραρχηψ ατ αλλ, τηεν τηε βενε�τ µυστ στεµ φροµ τηε φαχτ τηατ

τηε πρινχιπαλ µαψ βε αβλε το ινδυχε ινφορµατιον ρεϖελατιον ιν τ = 1. Ωε τυρν το τηισ χασε

νεξτ.

5.2 Σεπαρατινγ ιν τηε ςερτιχαλ Ηιεραρχηψ

Σιµιλαρλψ το τηε ηοριζονταλ ηιεραρχηψ, ωε χαν εξπρεσσ α �ρστ περιοδ χοντραχτ τηατ φυλλψ σεπα−

ρατεσ τηε τψπεσ οφ αγεντ Α ασ:

�ς Σ1 = φθα1 ; !
α
1)γ

α2φη;λγ:

Τηε χοντραχτ µυστ βε ινχεντιϖε χοµπατιβλε σο τηατ αγεντ Α ρεπορτσ τρυτηφυλλψ ιν τ = 1:

Αγαιν, δυε το τηε βιναρψ προδυχτιον στρυχτυρε, α �ρστ περιοδ σεπαρατιον χοντραχτ νεχεσσαριλψ

εξηιβιτσ θη1 = 1 ανδ θ
λ
1 = 0:

Ωιτη τηε σεπαρατινγ στρατεγψ, τηε πρινχιπαλ ρεχειϖεσ αν ινφορµατιϖε ρεπορτ �α1 αβουτ αγεντ

Α�σ τρυε τψπε ιν τ = 1. Τηισ ρεπορτ α⁄εχτσ ηερ βελιεφσ ανδ τηερεφορε ηερ συβσεθυεντ χοντραχτ

ιν τ = 2:Ωε χαν τηερεβψ ϖιεω τηε πρινχιπαλ�σ ο⁄ερ ιν τ = 2 ασ χοντινγεντ ον αγεντ Α�σ ρεπορτ

ιν τ = 1. Βεχαυσε αγεντ Α λεαρνσ αγεντ Β�σ τψπε, ανδ τηερε ισ νο διρεχτ χοµµυνιχατιον

βετωεεν τηε πρινχιπαλ ανδ αγεντ Β, τηε σεχονδ περιοδ χοντραχτ αλσο δεπενδσ ον α ρεπορτ

οφ αγεντ Α αβουτ αγεντ Β�σ τψπε ιν τ = 2: Ηενχε, ωε εξπρεσσ τηε πρινχιπαλ�σ σεχονδ περιοδ

χοντραχτ ασ:

�ς2 = φθ
αβ
2 ; Ω

αβγα;β2φη;λγ;

ωηερε συπερσχριπτ α ρεπρεσεντσ αγεντ Α�σ ρεπορτ αβουτ ηιµσελφ ιν τ = 1 ανδ συπερσχριπτ β

ρεπρεσεντσ ηισ ρεπορτ αβουτ αγεντ Β ιν τ = 2.
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Ωιτη τηε σεπαρατινγ στρατεγψ, τηε πρινχιπαλ ισ χερταιν αβουτ αγεντ�σ Α τψπε αφτερ τηε αγεντ

σενδσ ηισ ρεπορτ ιν τ = 1: Τηυσ, φορ α γιϖεν �α ωιτη α 2 φη; λγ; τηε πρινχιπαλ�σ σεθυεντιαλλψ

ρατιοναλ χοντραχτ, �ς2 , µαξιµιζεσ ηερ παψο⁄ φορ τ = 2

�ς2 � �(θ
αη
2 �Ω αη) + (1� �)(θαλ2 �Ω

αλ);

συβϕεχτ το αγεντ Α�σ παρτιχιπατιον χονστραιντσ,

Ω αβ � (2� �α � �β)θαβ2 =2 � 0; β 2 φη; λγ; (13)

ανδ ινχεντιϖε χονστραιντσ,

Ω αβ � (2� �α � �β)θαβ2 =2 � Ω
αβ0 � (2� �α � �β)θαβ

0

2 =2; β; β0 2 φη; λγ: (14)

Αγαιν, τηε πρινχιπαλ φαχεσ α τραδε−ο⁄ βετωεεν ποολινγ ανδ σεπαρατιον � ενσυρινγ ουτπυτ

ϖσ. εξτραχτινγ ινφορµατιον ρεντ. Ιν τηισ χασε, ηοωεϖερ, αγεντ Α�σ πριϖατε ινφορµατιον ιν

τ = 2 ισ ονλψ αγεντ Β�σ τψπε. Ηενχε, τηε θυεστιον ισ ωηετηερ τηε πρινχιπαλ ωαντσ το ενσυρε

προδυχτιον φορ βοτη τψπεσ οφ αγεντ Β ατ τηε εξπενσε οφ παψινγ αν ινφορµατιον ρεντ το αγεντ

Α. Τηε αλτερνατιϖε ισ το σαϖε ον ινφορµατιον ρεντσ βυτ φορεγο ον ουτπυτ ιν τηε χασε αγεντ Β

ισ ινε′χιεντ. Τηε νεξτ λεµµα σηοωσ ηοω τηε πρινχιπαλ�σ σεθυεντιαλλψ ρατιοναλ ο⁄ερ ιν τ = 2

δεπενδσ ον ηερ βελιεφ ον τηε λικελιηοοδ τηατ αγεντ Β ισ ε′χιεντ.

Λεµµα 6 Γιϖεν �ς Σ1 ; τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ �ς2 ιν τ = 2 ισ:

ι) Ιφ � � ⊥�(�λ), τηεν θαβ2 = 2
; Ω
αβ = (2� �α � �λ)
; α; β 2 φη; λγ; αγεντ Α γετσ α ρεντ οφ

��
 ιν τ = 2 ωηεν �β = �η:

ιι) Ιφ � 2 (⊥�(�λ); ⊥�(�η)], τηεν θηη2 = θηλ2 = θλη2 = 2
; θλλ2 = 0; Ω ηη = Ω ηλ = Ω λη =

(2� �η � �λ)
; Ω λλ = 0; αγεντ Α γετσ α ρεντ οφ ��
 ιν τ = 2 ωηεν �α = �β = �η:

ιιι) Ιφ � > ⊥�(�η), τηεν θαη2 = 2
; θαλ2 = 0; Ω
αη = (2� �α� �η)
; Ω αλ = 0; α 2 φη; λγ; αγεντ

Α γετσ νο ρεντ ιν τ = 2:
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Λεµµα 6 φολλοωσ α σιµιλαρ λογιχ ασ βεφορε. Τηε τραδε−ο⁄ βετωεεν ποολινγ ανδ σεπαρατιον

σηιφτσ ιν φαϖορ οφ ποολινγ ωηεν τηε λικελιηοοδ τηατ αγεντ Β ισ ε′χιεντ ισ σµαλλερ. Τηε ρεασον

ισ τηατ τηε χοστ οφ ποολινγ, παψινγ αν ινφορµατιον ρεντ, ισ ρεαλιζεδ ωιτη α σµαλλερ προβαβιλιτψ,

ωηιλε τηε βενε�τ, α ποσιτιϖε ουτπυτ ωηεν αγεντ Β ισ ινε′χιεντ, βεχοµεσ µορε ιµπορταντ

φορ α σµαλλ �. Τηε χυτο⁄ ποιντ οφ � ατ ωηιχη ποολινγ πρεϖαιλσ οϖερ σεπαρατιον δεπενδσ ον

αγεντ Α�σ ρεπορτ ιν τ = 1; βεχαυσε ιτ δετερµινεσ τηε πρινχιπαλ�σ χοστ οφ φορεγονε ρεϖενυεσ

φροµ αβανδονινγ ουτπυτ ιν τ = 2:

Χρυχιαλ φορ ουρ συβσεθυεντ αναλψσισ ισ αγεντ Α�σ ρεντ φροµ τηε σεθυεντιαλλψ ρατιοναλ χον−

τραχτ, �ς2 ; βεχαυσε ιτ δετερµινεσ το ωηατ εξτεντ τηε πρινχιπαλ χαν ινδυχε αγεντ Α το ρεϖεαλ

ηισ πριϖατε ινφορµατιον ιν τ = 1. Ιµπορταντλψ, νοτ ονλψ αγεντ Α�σ ρεντ ον τηε εθυιλιβριυµ

µαττερσ, βυτ αλσο ηισ ποτεντιαλ ρεντ ο⁄ εθυιλιβριυµ. Τηερεφορε, ωε νεεδ το εξαµινε εξπλιχιτλψ

αγεντ Α�σ στρατεγψ φορ τηε ουτ�ο⁄�εθυιλιβριυµ εϖεντ τηατ τηε αγεντ µισρεπρεσεντσ ηισ τψπε

ιν τ = 1 ανδ φαχεσ τηε σεθυεντιαλ ρατιοναλ χοντραχτ �ς2 ιν τ = 2:

Λεµµα 7 Τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ �ς2 ινδυχεσ αγεντ Α οφ τψπε �λ το ρεϕεχτ τηε

ο⁄ερ ιν τηε χασε οφ µισρεπορτινγ �α ασ �η ιν τ = 1; βυτ το αχχεπτ τηε ο⁄ερ ανδ τρυτηφυλλψ

ρεπορτ αγεντ Β�σ τψπε ιν τηε χασε οφ α τρυτηφυλ ρεπορτ ιν τ = 1:

Ασ ιν τηε ηοριζονταλ ηιεραρχηψ, τηε ινε′χιεντ αγεντ Α ωιλλ, ιν χασε οφ µισρεπορτινγ ιν τ = 1;

αδοπτ τηε τακε�τηε�µονεψ�ανδ�ρυν στρατεγψ βψ ρεϕεχτινγ τηε πρινχιπαλ�σ ο⁄ερ φορ τ = 2: Φορ

τηε ε′χιεντ αγεντ, τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ ισ ινδιϖιδυαλλψ ρατιοναλ ανδ ινχεντιϖε

χοµπατιβλε ιν τηατ ιτ γιϖεσ τηε αγεντ αν ινχεντιϖε το ρεπορτ ηισ πριϖατε ινφορµατιον αβουτ

αγεντ Β ηονεστλψ. Ιν τηε λιγητ οφ Λεµµα 4, τηε θυεστιον ισ ωηετηερ τηερε εξιστσ α χοντραχτ

�ς Σ1 τηατ πρεϖεντσ αγεντ Α φροµ µισρεπορτινγ ιν τ = 1; ανδ ινδυχεσ �ς2 ιν Λεµµα 7.

Λεµµα 8 Ωιτη 	 = ς , �ς Σ1 εξιστσ ωηεν ονε οφ τηε φολλοωινγ χονδιτιονσ ισ σατισ�εδ:

ι) � � ⊥�(�λ) ανδ 
 � 1=(1� �):

ιι) � 2 (⊥�(�λ); ⊥�(�η)]:

ιιι) � > ⊥�(�η) ανδ 
 � 1=�:
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Λεµµα 8 ισ τηε χουντερπαρτ οφ Λεµµα 4 ανδ δεµονστρατεσ τηε παπερ�σ κεψ ινσιγητ τηατ

ινφορµατιον ρεϖελατιον ιν τ = 1 ισ εασιερ το αχηιεϖε ιν τηε ϖερτιχαλ ηιεραρχηψ τηαν ιν τηε

ηοριζονταλ ηιεραρχηψ. Ιν ορδερ το ιντερπρετ ουρ συβσεθυεντ ρεσυλτσ, ιτ ισ ιµπορταντ το υνδερ−

στανδ τηε ιντυιτιον βεηινδ τηισ ρεσυλτ. Ρεχαλλ τηατ τηε ιµποσσιβιλιτψ οφ σεπαρατιον ιν τ = 1

ωιτη α ηοριζονταλ ηιεραρχηψ ωασ δυε το α τενσιον βετωεεν τηε ηολδ�υπ προβλεµ ασσοχιατεδ

ωιτη τηε ε′χιεντ αγεντ ανδ τηε τακε−τηε−µονεψ−ανδ−ρυν προβλεµ ασσοχιατεδ ωιτη τηε ινε′−

χιεντ αγεντ. Τηε τηρεε χασεσ ιν Λεµµα 8 ρεπρεσεντ δι⁄ερεντ χηαννελσ βψ ωηιχη τηε ϖερτιχαλ

ηιεραρχηψ ρελαξεσ τηε τενσιον.

Φιρστ, φορ � � ⊥�(�λ); τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ �ς2 ψιελδσ νοτ ονλψ αν ε′χιεντ

αγεντ Α, βυτ αλσο αν ινε′χιεντ αγεντ Α αν ινφορµατιον ρεντ. Τηε ρεντ το τηε ινε′χιεντ

αγεντ ρελαξεσ τηε τακε−τηε−µονεψ−ανδ−ρυν προβλεµ βεχαυσε ιτ ισ λοστ το ηιµ ιφ ηε δεχιδεσ το

ρυν αωαψ ιν τ = 2. Ηενχε, ιφ τηε τενσιον βετωεεν τηε ηολδ−υπ ανδ τηε τακε−τηε−µονεψ−ανδ−

ρυν προβλεµ ισ νοτ τοο σεϖερε, ωηιχη ισ τηε χασε ωηεν 
 ισ σµαλλ, τηεν �ρστ περιοδ σεπαρατιον ισ

ποσσιβλε ωιτη α ϖερτιχαλ ηιεραρχηψ. ∆ι⁄ερεντλψ πυτ, τηε ϖερτιχαλ ηιεραρχηψ ρεστορεσ παρτιαλλψ τηε

πρινχιπαλ�σ χοµµιτµεντ ποωερ το πλεδγε ρεντσ φορ τ = 2, ωηιχη µακεσ ινφορµατιον ρεϖελατιον

εασιερ ιν τ = 1:

Φορ � > ⊥�(�η), τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ ψιελδσ αν ε′χιεντ αγεντ Α νο ρεντ ιν

τ = 2. Τηερεφορε, τηε αγεντ φαχεσ α σιµιλαρ ηολδ�υπ προβλεµ ασ ιν τηε ηοριζονταλ ηιεραρχηψ σο

τηατ τηε συµ οφ ρεντσ οϖερ τωο περιοδσ µυστ βε παιδ ιν τ = 1: Ηοωεϖερ, τηε ε′χιεντ αγεντ�σ

εξπεχτεδ ρεντ φορ τ = 2 ισ σµαλλερ βεχαυσε, ωηεν αγεντ Β ισ ινε′χιεντ, τηε σεθυεντιαλλψ

ρατιοναλ χοντραχτ ινδυχεσ νο προδυχτιον ιν τ = 2. Αχχορδινγλψ, τηε ωαγε τρανσφερ τηατ ινδυχεσ

τηε ε′χιεντ αγεντ το βε τρυτηφυλ ιν τ = 1 ισ λοωερ τηαν ιν τηε ηοριζονταλ ηιεραρχηψ. Τηισ, ιν

τυρν, δισχουραγεσ τηε ινε′χιεντ αγεντ το πλαψ τηε τακε�τηε�µονεψ�ανδ�ρυν στρατεγψ. Ηενχε,

ωηεν 
 ισ σµαλλ σο τηατ τηε τενσιον βετωεεν τηε ηολδ�υπ ανδ τηε τακε−τηε−µονεψ−ανδ−ρυν

προβλεµ ισ νοτ τοο σεϖερε, σεπαρατιον ιν τ = 1 ισ ποσσιβλε ωιτη τηε ϖερτιχαλ ηιεραρχηψ, βυτ νοτ

ιν τηε ηοριζονταλ στρατεγψ..

Φιναλλψ, φορ τηε ιντερµεδιατε χασε � 2 (⊥�(�λ); ⊥�(�η)], τηε ϖερτιχαλ ηιεραρχηψ ινχρεασεσ τηε

πρινχιπαλ�σ χρεδιβιλιτψ φορ βοτη ρεντ προϖισιον ανδ τερµινατιον οφ προδυχτιον ιν τ = 2: Ασ

α ρεσυλτ, τηε δψναµιχ ινχεντιϖε προβλεµσ αρε φυλλψ µιτιγατεδ ανδ τηε πρινχιπαλ χαν αλωαψσ
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αχηιεϖε σεπαρατιον ιν τ = 1: Αγαιν, σεχονδ περιοδ προδυχτιον ιν τηε ϖερτιχαλ ηιεραρχηψ,

χοµπαρεδ το τηατ ιν τηε ηοριζονταλ ηιεραρχηψ, ισ µορε χοστλψ το τηε πρινχιπαλ, ανδ τηισ ισ τηε

σουρχε φορ ρεστορινγ τηε πρινχιπαλ�σ χοµµιτµεντ ποωερ.

Ωιτη Λεµµα 8, ωε χαν νοω δεριϖε, �ς Σ; τηε πρινχιπαλ�σ οϖεραλλ παψο⁄ φροµ τηε σεπαρατινγ

στρατεγψ ιν τηε ϖερτιχαλ ηιεραρχηψ.

Προποσιτιον 3 Ωιτη 	 = ς; τηε πρινχιπαλ�σ παψο⁄ φροµ τηε σεπαρατινγ στρατεγψ ισ:

�ς Σ =

8
>>><
>>>:

��η + (ε� + �λ)
 ιφ � � ⊥�(�λ) ανδ 
 < 1
1��
;

��η + 2�(�η + (1� �)�λ)
 ιφ � 2 (⊥�(�λ); ⊥�(�η)];

��η + �(�η + �λ)
 ιφ � > ⊥�(�η) ανδ 
 < 1
�
:

Βεφορε ωε δισχυσσ τηε οπτιµαλιτψ οφ τηε ηοριζονταλ ανδ τηε ϖερτιχαλ ηιεραρχηψ, ωε �ρστ

προϖιδε τηε φολλοωινγ δε�νιτιον.

∆ε�νιτιον 3 Λετ β
 � ��η��λ

�2��
.

∆υε το Προποσιτιον 2, ωε ονλψ νεεδ το χοµπαρε �ΗΠ ιν Προποσιτιον 1 ωιτη �ς Σ ιν

Προποσιτιον 3. Τηισ στραιγητφορωαρδ χοµπαρισον ψιελδσ ουρ µαιν προποσιτιον.

Προποσιτιον 4 Τηε οπτιµαλ ηιεραρχηιχαλ στρυχτυρε ισ χηαραχτεριζεδ ασ φολλοωσ:

ι) Φορ � � ⊥�(0), τηε οπτιµαλ ηιεραρχηψ ισ 	 = Η:

ιι) Φορ � 2 (⊥�(0); ⊥�(�λ)] ανδ 
 � 1=(1� �), τηε οπτιµαλ ηιεραρχηψ ισ 	 = Η:

ιιι) Φορ � 2 (⊥�(0); ⊥�(�λ)] ανδ 
 < 1=(1� �), τηε οπτιµαλ ηιεραρχηψ ισ 	 = ς:

ιϖ) Φορ � 2 (⊥�(�λ); ⊥�(�η)], τηε οπτιµαλ ηιεραρχηψ ισ 	 = ς:

ϖ) Φορ � > ⊥�(�η) ανδ 
 < β
, τηε οπτιµαλ ηιεραρχηψ ισ 	 = ς:

ϖι) Φορ � > ⊥�(�η) ανδ 
 � β
, τηε οπτιµαλ ηιεραρχηψ ισ 	 = Η:
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Φιγυρε 1 ιλλυστρατεσ ουρ µαιν ρεσυλτ. Ωηιλε τηε ηοριζονταλ ηιεραρχηψ προϖιδεσ τηε πρινχιπαλ

ωιτη µορε χοντρολ, τηε ϖερτιχαλ ηιεραρχηψ εναβλεσ ηερ το µιτιγατε τηε δψναµιχ ινχεντιϖε

προβλεµσ δυε το λιµιτεδ χοµµιτµεντ. Τηε προποσιτιον σηοωσ τηατ τηε πρινχιπαλ πρεφερσ τηε

ϖερτιχαλ ηιεραρχηψ ωηεν υνχερταιντψ αβουτ αν αγεντ�σ τψπε ισ λαργε. Ον τηε οτηερ ηανδ, τηε

πρινχιπαλ πρεφερσ το ρεταιν διρεχτ χοντρολ ανδ νοτ λεαϖε ανψ ρεντ ιν τ = 2, ωηεν τηισ υνχερταιντψ

ισ σµαλλ σο τηατ τηε αγεντσ αρε λικελψ το βε ε′χιεντ ορ ινε′χιεντ. Τηισ δεµονστρατεσ τηατ τηε

κεψ τραδε−ο⁄ ιν χηοοσινγ α ηιεραρχηιχαλ στρυχτυρε ισ χοντρολ ϖσ. δψναµιχ ινχεντιϖεσ.

Νοτε αλσο τηατ τηε οπτιµαλ ηιεραρχηιχαλ στρυχτυρε δεπενδσ, ιν γενεραλ, ον τηε ουτπυτ

εξπανσιον παραµετερ 
. Φορ εξαµπλε, ωηεν � 2 (⊥�(0); ⊥�(�λ)] τηε ηοριζονταλ ηιεραρχηψ πρεϖαιλσ

ιφ 
 ισ τοο λαργε. Τηε ιντυιτιον ισ τηατ τηε παραµετερ 
 µεασυρεσ τηε τενσιον βετωεεν τηε ηολδ�

υπ προβλεµ ανδ τηε τακε�τηε�µονεψ�ανδ�ρυν στρατεγψ. Τηε ωαγε τρανσφερ το τηε ε′χιεντ

αγεντ ιν τ = 1 ινχρεασεσ ασ 
 βεχοµεσ λαργερ, ανδ φορ 
 λαργε ενουγη, τηε ωαγε παψµεντ

το τηε ε′χιεντ αγεντ µακεσ τηε τακε−τηε−µονεψ−ανδ−ρυν προ�ταβλε το τηε ινε′χιεντ αγεντ.

Ασ α ρεσυλτ, σεπαρατινγ τηε τψπεσ οφ αγεντ Α ιν τ = 1 βεχοµεσ ιµποσσιβλε εϖεν ιν α ϖερτιχαλ

ηιεραρχηψ σο τηατ τηε ϖερτιχαλ ηιεραρχηψ ηασ νο µεριτ οϖερ τηε ηοριζονταλ ηιεραρχηψ.

Φιγ 1. Ηοριζονταλ ϖσ. ςερτιχαλ Ηιεραρχηψ
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6 Χονδιτιοναλ Ηιεραρχηιχαλ Στρυχτυρεσ

Σο φαρ ωε ηαϖε ινϖεστιγατεδ τηε χασεσ ιν ωηιχη τηε οργανιζατιον ιν τ = 1 ειτηερ χοµµιτσ το τηε

ηοριζονταλ ορ τηε ϖερτιχαλ ηιεραρχηψ. Ψετ, ιφ ωε ϖιεω τηε οργανιζατιον�σ λονγ τερµ ηιεραρχηιχαλ

στρυχτυρε ασ φυλλψ χοντραχτιβλε, τηεν τηε πρινχιπαλ χουλδ αχτυαλλψ χονδιτιον τηε ηιεραρχηιχαλ

στρυχτυρε ον τηε αγεντ Α�σ ρεπορτ (ορ ουτπυτ) ιν τ = 1. Ιν τηισ σεχτιον ωε στυδψ το ωηατ

εξτενδ τηε πρινχιπαλ βενε�τσ φροµ υσινγ χονδιτιοναλ ρατηερ τηαν υνχονδιτιοναλ ηιεραρχηιεσ.

Ωε �ρστ σηοω τηατ τηε πρινχιπαλ δοεσ νοτ βενε�τ φροµ χονδιτιοναλ ηιεραρχηιεσ τηατ προµοτε

αγεντ Α ονλψ ωηεν ηε ισ ε′χιεντ. Τηεν, ωε δεµονστρατε τηε µορε χουντερ�ιντυιτιϖε ρεσυλτ

τηατ φορ ρελατιϖελψ σµαλλ � τηε πρινχιπαλ βενε�τσ φροµ προµοτινγ αγεντ Α ονλψ ωηεν ηε ισ

ινε′χιεντ.

Ωε εξπρεσσ χονδιτιοναλ ηιεραρχηιεσ βψ τηε �ρστ περιοδ ο⁄ερ οφ τηε φολλοωινγ στρυχτυρε:

�	1 = φθ
α
1 ; !

α
1; 	

αγα2φη;λγ;

ωιτη τηε ιντερπρετατιον τηατ ωηεν αγεντ Α ρεπορτσ τψπε �α ιν τ = 1, ηε τηεν ηασ το προδυχε

τηε ουτπυτ θα1 , ρεχειϖεσ α ωαγε !
α
1 ιν τ = 1, ανδ τηε ηιεραρχηιχαλ στρυχτυρε ιν τ = 2 ισ

	α 2 φΗ;Λγ:

Ιν πρινχιπλε, τηερε αρε φουρ ποσσιβλε χοµβινατιονσ οφ ωηιχη ουρ πρεϖιουσ αναλψσεσ ηαϖε

χοϖερεδ τηε τωο υνχονδιτιοναλ ηιεραρχηιεσ φ	η = Η;	λ = Ηγ ανδ φ	η = ς;	λ = ς γ. Ηενχε,

ωε αρε λεφτ το χονσιδερ τηε τωο χονδιτιοναλ χοµβινατιονσ:

	ς Η � φ	
η = ς;	λ = Ηγ ανδ 	Ης � φ	

η = Η;	λ = ς γ:

Τηε χονδιτιοναλ ηιεραρχηψ 	Ης ρεπρεσεντσ α χοντραχτ τηατ προµοτεσ αγεντ Α το µιδδλε

µαναγερ ονλψ ωηεν ηε ισ ε′χιεντ. Βψ χοντραστ, τηε χονδιτιοναλ ηιεραρχηψ 	ς Η ρεπρεσεντσ α

χοντραχτ τηατ προµοτεσ τηε αγεντ Α ονλψ ωηεν ηε ισ ινε′χιεντ.

Νοτε τηατ αν ινχεντιϖε χοµπατιβλε χονδιτιοναλ ηιεραρχηψ νεχεσσαριλψ ιµπλιεσ σεπαρατιον σο

τηατ αγεντ Α�σ τψπε ιν τ = 1 ισ φυλλψ ρεϖεαλινγ. Ηενχε, αφτερ αγεντ Α µακεσ α ρεπορτ ιν τ = 1,

τηε πρινχιπαλ ισ χονϖινχεδ τηατ τηε αγεντ ισ οφ τψπε �α: Ιτ φολλοωσ τηατ τηε πρινχιπαλ�σ ο⁄ερ ιν
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τ = 2 δεπενδσ ον αγεντ Α�σ �ρστ περιοδ ρεπορτ �αΑ ασ φολλοωσ:

�	2 =

8
<
:
φθαβ; !αβΑ ; !

αβ
Β γ

β2φη;λγ ιφ 	α = Η;

φθαβ2 ; Ω
αβγβ2φη;λγ ιφ 	α = ς:

Ωε �ρστ στυδψ τηε οπτιµαλιτψ οφ τηε χονδιτιοναλ ηιεραρχηψ 	ς Η . Ωιτη 	ς Η , τηε πρινχιπαλ

φαχεσ τηε ϖερτιχαλ ηιεραρχηψ ιν τ = 2 ιφ αγεντ Α ρεπορτσ �η ιν τ = 1. Ιν τηισ χασε, τηε πρινχιπαλ

ιν τ = 2 ο⁄ερσ α µενυ φθηβ2 ;Ω
ηβγβ2φη;λγ ωιτη τηε βελιεφ τηατ αγεντ Α ισ ε′χιεντ. Τηε σιτυατιον

ισ, τηερεφορε, σιµιλαρ το τηε ϖερτιχαλ ηιεραρχηψ ωιτη σεπαρατιον, ανδ τηε πρινχιπαλ�σ ο⁄ερ φορ

τ = 2 χοινχιδεσ ωιτη τηε ονε πρεσεντεδ ιν Λεµµα 6. Ιφ, ινστεαδ, αγεντ Α ρεπορτσ �λ ιν τ = 1;

τηεν τηε πρινχιπαλ ιν τ = 2 ο⁄ερσ α µενυ φθλβ; !λβΑ; !
λβ
Βγ

β2φη;λγ ωιτη τηε βελιεφ τηατ αγεντ Α ισ

ινε′χιεντ. Ηενχε, τηε σιτυατιον ισ σιµιλαρ το τηε ηοριζονταλ ηιεραρχηψ ωιτη σεπαρατιον, ανδ

τηε πρινχιπαλ�σ ο⁄ερ φορ τ = 2 χοινχιδεσ ωιτη τηε ονε πρεσεντεδ ιν Λεµµα 3. Τηισ λεαδσ το

τηε φολλοωινγ λεµµα.

Λεµµα 9 Τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ �	2 ιν τ = 2 φορ α χονδιτιοναλ ηιεραρχηψ 	ς Η

ισ θλη = θλλ = 
; !ληΑ = !
λλ
Α = !

λλ
Β = (1� �

λ)
; !ληΒ = (1� �
η)
 ανδ8

<
:
θηη2 = θηλ2 = 2
; Ω

ηη = Ω ηλ = (2� �η � �λ)
 ιφ � � β�(�η);
θηη2 = 2
; θηλ2 = 0; Ω

ηη = (2� �η � �η)
; Ω ηλ = 0 ιφ � > β�(�η):

Ωηετηερ ορ νοτ τηε χονδιτιοναλ ηιεραρχηψ 	ς Η ισ αχτυαλλψ ιµπλεµενταβλε δεπενδσ ον τηε

εξιστενχε οφ ωαγε τρανσφερσ !λ1 ανδ !
η
1 τηατ προϖιδε αγεντΑ ωιτη αν ινχεντιϖε το ρεϖεαλ ηισ τψπε

τρυτηφυλλψ, ωηεν ηε αντιχιπατεσ �	2 ασ ιν Λεµµα 9. Τηε φολλοωινγ προποσιτιον δεµονστρατεσ

τηατ τηισ ισ τηε χασε, ωηεν � ανδ 
 αρε σµαλλ ενουγη, βυτ τηε πρινχιπαλ�σ παψο⁄ ωιτη 	ς Η

ινφεριορ το τηε πρινχιπαλ�σ οπτιµαλ παψο⁄ ιν τηε υνχονδιτιοναλ ηιεραρχηψ 	 = ς:

Προποσιτιον 5 Τηε πρινχιπαλ χαν ιµπλεµεντ 	ς Η ι⁄ � < β�(�η) ανδ 
 < 1=(1 � �): Ωηεν
ιµπλεµενταβλε, 	ς Η ψιελδσ τηε πρινχιπαλ α παψο⁄ �

ς Η � �ς , ωηερε �ς Η � ��η+(ε�+ �λ)
::

Προποσιτιον 5 ιµπλιεσ τηατ α σελεχτιϖε προµοτιον οφ τηε ε′χιεντ αγεντ δοεσ νοτ ηελπ τηε

πρινχιπαλ ιν προϖιδινγ ινχεντιϖεσ φορ ινφορµατιον ρεϖελατιον.

Ωε νεξτ τυρν το τηε χονδιτιοναλ ηιεραρχηψ 	Ης . Ωιτη α χονδιτιοναλ ηιεραρχηψ 	Ης , τηε

πρινχιπαλ φαχεσ α ηοριζονταλ ηιεραρχηψ ιν τ = 2 ιφ αγεντ Α ρεπορτσ �η ιν τ = 1. Ιν τηισ χασε,
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τηε πρινχιπαλ ιν τ = 2 ο⁄ερσ α χοντραχτ φθηβ; !ηβΑ ; !
ηβ
Β γ

β2φη;λγ ωιτη τηε βελιεφ τηατ αγεντ Α ισ

ε′χιεντ. Ηενχε, τηε σιτυατιον ισ σιµιλαρ το τηε ηοριζονταλ ηιεραρχηψ ωιτη σεπαρατιον, ανδ τηε

πρινχιπαλ�σ ο⁄ερ φορ τ = 2 χοινχιδεσ ωιτη τηε ονε πρεσεντεδ ιν Λεµµα 3. Ιφ, ινστεαδ, αγεντ Α

ρεπορτσ �λ, τηε πρινχιπαλ ιν τ = 2 ο⁄ερσ α χοντραχτ φθλβ2 ;Ω
λβγβ2φη;λγ ωιτη τηε βελιεφ τηατ αγεντ

Α ισ ινε′χιεντ. Τηε σιτυατιον ισ σιµιλαρ το τηε ϖερτιχαλ ηιεραρχηψ ωιτη σεπαρατιον, ανδ τηε

πρινχιπαλ�σ ο⁄ερ φορ τ = 2 χοινχιδεσ ωιτη τηε ονε πρεσεντεδ ιν Λεµµα 6. Τηεσε χονσιδερατιονσ

λεαδ το τηε φολλοωινγ ρεσυλτ.

Λεµµα 10 Τηε σεθυεντιαλλψ ρατιοναλ χοντραχτ �	2 ιν τ = 2 φορ α χονδιτιοναλ ηιεραρχηψ 	Ης

ισ θηβ = 
; !ηβΑ = (1� �
η)
; !ηβΒ = (1� �

β)
; β 2 φη; λγ; ανδ8
<
:
θλβ2 = 2
; Ω

λβ = (2� �λ � �λ)
; β 2 φη; λγ ιφ � � β�(�λ);
θλη2 = 2
; θ

λλ
2 = 0; Ω

λη = (2� �λ � �η)
; Ω λλ = 0 ιφ � > β�(�λ):

Ασ βεφορε, ιµπλεµενταβιλιτψ οφ 	Ης δεπενδσ ον τηε εξιστενχε οφ ωαγε τρανσφερσ !
λ
1 ανδ

!η1 σο τηατ αγεντ Α ηασ αν ινχεντιϖε το ρεϖεαλ ηισ τψπε τρυτηφυλλψ, ωηεν ηε αντιχιπατεσ �
	
2 ασ

ιν Λεµµα 10. Τηε φολλοωινγ προποσιτιον σηοωσ τηατ τηισ ισ τηε χασε, ωηεν � ισ λαργε ανδ 


ισ σµαλλ ενουγη.

Προποσιτιον 6 Τηε πρινχιπαλ χαν ιµπλεµεντ 	Ης ι⁄ � > β�(�λ) ανδ 
 < 1=�: Ωηεν ιµ−

πλεµενταβλε, 	Ης ψιελδσ τηε πρινχιπαλ α παψο⁄ �
Ης ωηιχη εξχεεδσ �ς φορ � > ⊥�(�η); ωηερε

�Ης = ��η + �(2� �)(�η + �λ)
:

Ηενχε, φορ � λαργε ενουγη, τηε χονδιτιοναλ ηιεραρχηψ 	Ης ουτπερφορµσ τηε υνχονδιτιοναλ

ϖερτιχαλ ηιεραρχηψ. Το υνδερστανδ τηισ ρεσυλτ ιτ ισ ηελπφυλ το ρεχονσιδερ φροµ τηε πρεϖιουσ

σεχτιον, ωηψ φορ � > ⊥�(�η), τηε ϖερτιχαλ ηιεραρχηψ (	 = ς ) περφορµσ βεττερ τηαν τηε ηοριζον−

ταλ ηιεραρχηψ (	 = Η): Λεµµα 6 σηοωσ τηατ, ιν τηε ϖερτιχαλ ηιεραρχηψ ωιτη � λαργε ενουγη,

προδυχτιον ιν τ = 2 τακεσ πλαχε ονλψ ιφ αγεντ Β ισ ε′χιεντ. Τηισ φεατυρε οφ τηε σεθυεντιαλλψ

ρατιοναλ χοντραχτ ηασ α νεγατιϖε ανδ α ποσιτιϖε ε⁄εχτ ασ χοµπαρεδ το τηε ηοριζονταλ ηιεραρ−

χηψ. Τηε νεγατιϖε ε⁄εχτ ισ τηατ τηερε ισ σιµπλψ λεσσ προδυχτιον φορ τηε πρινχιπαλ ιν τ = 2.

Τηε ποσιτιϖε ε⁄εχτ ισ τηατ τηε πρινχιπαλ ηασ το παψ λεσσ ρεντσ φορ ινφορµατιον ρεϖελατιον. Ασ

εξπλαινεδ, ιτ ισ εξαχτλψ δυε το τηισ σµαλλερ ρεντ τηατ τηε πρινχιπαλ ισ αβλε το ινδυχε σεπαρατιον
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ιν τ = 1 ανδ τηατ τηε ϖερτιχαλ ηιεραρχηψ ουτπερφορµσ τηε ηοριζονταλ ονε. Νοτε, ηοωεϖερ, τηατ

τηισ ποσιτιϖε ε⁄εχτ οφ ρεδυχεδ προδυχτιον βενε�τσ τηε πρινχιπαλ ονλψ ωηεν αγεντ Α ισ ινεφ−

�χιεντ, ωηερεασ τηε ρεδυχεδ προδυχτιον ονλψ ηυρτσ τηε πρινχιπαλ ωηεν αγεντ Α ισ ε′χιεντ.

Τηε πρινχιπαλ ωουλδ, τηερεφορε, βενε�τ ωηεν σηε χουλδ ρεδυχε προδυχτιον ονλψ ωηεν αγεντ Α

ισ ινε′χιεντ. Τηε χονδιτιοναλ ηιεραρχηψ 	Ης αλλοωσ ηερ το αχηιεϖε τηισ σελεχτιϖε ρεδυχτιον ιν

προδυχτιον. Τηισ εξπλαινσ ωηψ τηε χονδιτιοναλ ηιεραρχηψ χαν ουτπερφορµ τηε υνχονδιτιοναλ

ϖερτιχαλ ηιεραρχηψ.

7 Χονχλυσιον

∆ψναµιχ ινχεντιϖε προβλεµσ αρισε ωηεν οργανιζατιονσ ηαϖε λιµιτεδ χοµµιτµεντ. Ιν τηισ

παπερ, ωε προποσε αν εξπλανατιον οφ δι⁄ερεντ ηιεραρχηιχαλ στρυχτυρεσ βασεδ ον συχη δψναµιχ

ινχεντιϖε προβλεµσ. Ωε σηοω τηατ ινφορµατιον ρεϖελατιον ιν τηε �ρστ περιοδ ισ εασιερ το

αχηιεϖε ιν τηε ϖερτιχαλ ηιεραρχηψ, βεχαυσε ιτ ινχρεασεσ τηε πρινχιπαλ�σ χρεδιβιλιτψ το γιϖε ρεντσ

ανδ/ορ χυτ προδυχτιον ιν τηε φυτυρε. Χονσεθυεντλψ, τηε οπτιµαλ ηιεραρχηιχαλ στρυχτυρε ισ

ϖερτιχαλ ωηεν ινφορµατιον ρεϖελατιον ισ µορε ιµπορταντ, ι.ε., ωηεν υνχερταιντψ αβουτ τηε

τψπεσ οφ τηε αγεντσ ισ λαργε. Ωηεν συχη υνχερταιντψ ισ σµαλλ σο τηατ ινφορµατιον ρεϖελατιον

ισ λεσσ ιµπορταντ, τηε οπτιµαλ ηιεραρχηψ ισ ηοριζονταλ. Ασ Μιντζβεργ (1979) ποιντσ ουτ, µανψ

προφεσσιοναλ οργανιζατιονσ ηαϖε α τενδενχψ το αδοπτ τηε ηοριζονταλ ηιεραρχηιχαλ ηιεραρχηψ.

Ιν τραδιτιοναλ µανυφαχτυρινγ ινδυστριεσ, ον τηε οτηερ ηανδ, τηε ϖαριατιονσ ιν σκιλλ σετσ ανδ

ε′χιενχιεσ οφ αδµινιστρατιϖε στα⁄ ανδ λινε ωορκερσ αρε οφτεν λαργε. Ουρ ρεσυλτ συγγεστ τηατ

αν οργανιζατιον ιν συχη ινδυστριεσ βενε�τ φροµ ϖερτιχαλ ηιεραρχηιεσ.

Το κεεπ τηινγσ τραχταβλε, ωε ασσυµεδ τηατ τηε σενιορ αγεντ περφεχτλψ οβσερϖεσ τηε πριϖατε

ινφορµατιον οφ τηε ϕυνιορ αγεντ. Ουρ ρεσυλτσ, ηοωεϖερ, αρε ροβυστ το α µορε ρεαλιστιχ σιτυατιον,

ωηερε τηε σενιορ αγεντ ιµπερφεχτλψ οβσερϖεσ τηε ϕυνιορ�σ ινφορµατιον. Ιν συχη α χασε, τηε

χοντραχτ τηατ τηε σενιορ αγεντ ο⁄ερσ το τηε ϕυνιορ αγεντ βεχοµεσ µορε χοµπλεξ, ανδ λεαϖεσ

τηε ϕυνιορ αγεντ α ρεντ φορ ηισ ρεµαινινγ πριϖατε ινφορµατιον. Ηοωεϖερ, ασ λονγ ασ τηε σενιορ

αγεντ λεαρνσ σοµετηινγ αβουτ τηε ϕυνιορ αγεντ ωηιλε τηε πρινχιπαλ δοεσ νοτ, τηε ϖερτιχαλ

ηιεραρχηψ στιλλ µιτιγατεσ τηε δψναµιχ ινχεντιϖε προβλεµ.
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Συχη α παρτιαλ ινφορµατιον ρεϖελατιον ωουλδ αλλοω υσ το εξτενδ ουρ φραµεωορκ το αν

οϖερλαππινγ γενερατιον µοδελ, ωηερε εµπλοψεεσ �ρστ εντερ τηε οργανιζατιον ασ συβορδινατεσ

ανδ, αφτερ βεχοµινγ σενιορσ οϖερ τηε νεξτ γενερατιον οφ ψουνγ εµπλοψεεσ ιν α σεχονδ σταγε,

ρετιρε φροµ τηε �ρµ εντιρελψ.11 Ασ α συβορδινατε, αν εµπλοψεε λοσεσ παρτ οφ ηισ πριϖατε

ινφορµατιον, ανδ τηε ασσοχιατεδ ρεντ, το ηισ συπεριορ. Ηε, ηοωεϖερ, ρεγαινσ τηε λοστ αµουντ

οφ ρεντ ωηεν ηε βεχοµεσ σενιορ λατερ. Ασ σηοων ιν ουρ φορµαλ φραµεωορκ, τηε ποστπονεµεντ

οφ ρεντσ ρεδυχεσ ηολδ�υπ προβλεµσ ανδ φαχιλιτατεσ εαρλψ ινφορµατιον ρεϖελατιον. Τηισ ρε�εχτσ

ωελλ α τψπιχαλ χαρεερ πατη οφ εµπλοψεεσ ιν µανψ οργανιζατιονσ.

Αππενδιξ 1: Προοφσ

Τηισ αππενδιξ χολλεχτσ τηε φορµαλ προοφσ οφ τηε λεµµασ ανδ προποσιτιονσ.

Προοφ οφ Λεµµα 2 Φιρστ νοτε τηατ σολϖινγ τηε οϖεραλλ µαξιµιζατιον προβλεµ φολλοωσ φροµ

χοµβινινγ τηε τωο σολυτιονσ οφ τηε συβµαξιµιζατιον προβλεµσ ινδεξεδ βψ β 2 φη; λγ.

Π β : µαξ
θηβ;θλβ;!ηβ

Α
;!λβ
Α

�(θηβ � !ηβΑ + �
βθηβ) + (1� �)(θλβ � !λβΑ + �

βθλβ); σ.τ. (5) ανδ (6):

Ασ ισ στανδαρδ, ονλψ τηε παρτιχιπατιον χονστραιντ ιν (5) ωιτη ρεσπεχτ το τηε ινε′χιεντ τψπε �λΑ

ανδ τηε ινχεντιϖε χονστραιντ ιν (6) ωιτη ρεσπεχτ το τηε ε′χιεντ τψπε �ηΑ αρε βινδινγ. Τηεσε

χονστραιντσ ψιελδ !λβΑ = (1 � �
λ)θλβ ανδ !ηβΑ = (1 � �η)θηβ + ��θλβ. Αφτερ συβστιτυτινγ τηεσε

ωαγεσ ιντο τηε οβϕεχτιϖε φυνχτιον, ωε αρε λεφτ το σολϖε:

µαξ
θηβ;θλβ

�(�η + �β)θηβ + (1� �)(�λ + �β � [�=(1� �)]��)θλβ:

Τηε οβϕεχτιϖε φυνχτιον ισ ινχρεασινγ ιν θηβ; ανδ ηενχε θηβ = 
: Λικεωισε, τηε οβϕεχτιϖε

φυνχτιον ισ νον−δεχρεασινγ ιν θλβ ιφ � � ⊥�(�β): Τηυσ, θλβ = 
 ιφ � � ⊥�(�β); ανδ θλβ = 0

οτηερωισε. Βεχαυσε ⊥�(�λ) < ⊥�(�η) ωε ηαϖε τηε τηρεε χασεσ ασ σπεχι�εδ ιν τηε λεµµα. �

11Ωε ρεφραιν φροµ α φυλλψ �εδγεδ αναλψσισ οφ ιµπερφεχτ ινφορµατιον ρεϖελατιον βεχασυσε ιτ ψιελδσ αν ιν−

τραχταβλε φραµεωορκ.

30



Προοφ οφ Προποσιτιον 1 Φορ � � ⊥�(�λ), ιτ φολλοωσ φροµ Λεµµα 2 τηατ τηε σεθυεντιαλ

ρατιοναλ χοντραχτ ψιελδσ τηε πρινχιπαλ α σεχονδ περιοδ παψο⁄ οφ �Η2 = (�λ + ε�)
. Φορ � 2
(⊥�(�λ); ⊥�(�η) τηισ παψο⁄ ισ �Η2 � �(2 � �)(�η + �λ)
. Φορ � > ⊥�(�η), ηερ παψο⁄ ισ �Η2 =

�(�η +ε�)
. Τηεσε παψο⁄σ αρε ινδεπενδεντ οφ τηε �ρστ περιοδ χοντραχτ �ΗΠ2 . Τηε πρινχιπαλ�σ

οπτιµαλ �ρστ περιοδ ποολινγ χοντραχτ �ΗΠ2 , τηερεφορε, σιµπλψ µαξιµιζεσ �ΗΠ1 � θ1 � !1

συβϕεχτ το τηε παρτιχιπατιον χονστραιντσ οφ αγεντ Α οϖερ βοτη περιοδσ. Λεµµα 2 σηοωσ

τηατ τηε ινε′χιεντ αγεντ Α δοεσ νοτ γετ α ρεντ φροµ τηε σεθυεντιαλ ρατιοναλ χοντραχτ. Ηισ

παρτιχιπατιον χονστραιντ ισ, τηερεφορε, !1� (1� �
λ)θ1 � 0. Γιϖεν τηισ χονστραιντ, τηε χοντραχτ

θ1 = 1 ανδ !1 = 1 � �λ µαξιµιζεσ �ΗΠ1 ανδ, βεχαυσε τηισ χοντραχτ αυτοµατιχαλλψ σατισ�εσ

αλσο τηε παρτιχιπατιον οφ τηε ε′χιεντ αγεντ Α, ιτ ισ οπτιµαλ. Ιτ ψιελδσ τηε πρινχιπαλ τηε παψο⁄

�λ ιν τ = 1. Α σιµπλε συµµατιον οφ �ΗΠ1 +�Η2 ψιελδσ τηε εξπρεσσιον φορ �
ΗΠ : �

Προοφ οφ Λεµµα 3 Φροµ (4), !αβΒ = (1 � �β)θαβ. Γιϖεν τηε ρεπορτ �α1, τηε πρινχιπαλ

βελιεϖεσ το φαχε αν αγεντ Α οφ τψπε �α1 ωιτη χερταιντψ. Χονσεθυεντλψ, σηε βελιεϖεσ τηατ αγεντ

Α�σ παρτιχιπατιον χονστραιντ ισ !αβΑ � (1 � �
α
1)θ

αβ � 0. Μαξιµιζινγ τηε πρινχιπαλ�σ προ�τσ

2θαβ � !αβΑ � (1� �
β)θαβ υνδερ τηε αγεντ�σ παρτιχιπατιον χονστραιντ ψιελδσ τηε ρεσυλτ. �

Προοφ οφ Λεµµα 4 Συπποσε σεπαρατιον ισ ιµπλεµενταβλε ωιτη σοµε �ρστ περιοδ χοντραχτ

ωιτη ωαγεσ !η1 ανδ !
λ
1. Τηε ινχεντιϖε χονστραιντσ (7) ανδ (8) ιµπλψ τηατ:

1� �λ � !η1 � !
λ
1 � 1� �

η + 
��:

Το ηαϖε !η1ανδ !
λ
1 τηατ σατισφψ τηε ινεθυαλιτψ, 1 � �

λ > 1 � �η + 
�� µυστ ηολδ, βυτ τηισ

ινεθυαλιτψ χοντραδιχτσ ωιτη 
 > 1: �

Προοφ οφ Λεµµα 5 Ασ υσυαλ ιν τηε µοδελ οφ τηισ τψπε, τηε παρτιχιπατιον χονστραιντ (11)

φορ τηε µοστ ινε′χιεντ τψπε �λ; ανδ τηε ινχεντιϖε χονστραιντσ (12) φορ τηε µορε ε′χιεντ

αδϕαχεντ τψπεσ, �η (φορ �µ) ανδ �µ (φορ �λ), αρε βινδινγ προϖιδεδ τηατ τηισ σολυτιον ψιελδσ

α νον−δεχρεασινγ σχηεδυλε θη2 � θ
µ
2 � θ

λ
2.

Τηε βινδινγ χονστραιντσ ιµπλψ, συχχεσσιϖελψ, Ω λ = (2��λ)θλ2=2, Ω
µ = (2��µ)θµ2 =2 +

(�µ � �λ)θλ2=2, ανδ Ω
η = (2 � �η)θη2=2 + (�

η � �µ)θµ2 =2 + (�
µ � �λ)θλ2=2. Συβστιτυτιον
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ιντο τηε οβϕεχτιϖε φυνχτιον ιµπλιεσ τηατ ωε µαξιµιζε:

∋η
�
θη2 � (2��

η)θη2=2� (�
η ��µ)θµ2 =2� (�

µ ��λ)θλ2=2
�

+∋µ
�
θµ2 � (2��

η)θη2=2� (�
µ ��λ)θλ2=2

�
+ ∋λ

�
θλ2 � (2��

λ)θλ2=2
�

= ∋η
�
�ηθη2 ���θ

µ
2 =2���θ

λ
2=2
�
+ ∋µ

�
(�η +�λ)θµ2 =2���θ

λ
2=2
�
+ ∋λ�λθλ2

= θη2∋
η�η + θµ2

�
∋µ(�η +�λ)� ∋η��

�
=2 + θλ2

�
∋λ�λ � ∋µ��=2� ∋λ��=2

�
:

Μαξιµιζινγ τηε εξπρεσσιον ωιτη ρεσπεχτ το θη2 2 φ0; 2
γ ψιελδσ θ
η
2 = 2
. Μαξιµιζινγ τηε

εξπρεσσιον ωιτη ρεσπεχτ το θµ2 2 φ0; 2
γ, ωε γετ θµ2 = 2
 ιφ 2�(1 � �)(�η + �λ) � �2��,

ωηιχη ισ εθυιϖαλεντ το � � ��, ανδ θµ2 = 0 οτηερωισε. Φιναλλψ, µαξιµιζινγ τηε εξπρεσσιον

ωιτη ρεσπεχτ το θλ2 2 φ0; 2
γ, ωε γετ θ
λ
2 = 2
 ιφ (1� �)

2�λ � 2�(1� �)��=2 + �2��=2, ωηιχη

ισ εθυιϖαλεντ το � � �, ανδ θλ2 = 0 οτηερωισε.

Τηε σχηεδυλε θη2 , θ
µ
2 , θ

λ
2 ισ µονοτονε ιφ � � �, βεχαυσε ιτ τηεν φολλοωσ τηατ θ

λ
2 = 2
 ιµπλιεσ

θµ2 = 2
. Το σεε τηατ �� � �, νοτε τηατ ιτ ισ, περ δε�νιτιον, εθυιϖαλεντ το 2(�
η+�λ)=(3�η+�λ) �

1 �
θ
��=(�η + �λ), ωηιχη ισ εθυιϖαλεντ το

θ
��=(�η + �λ) � ��=(3�η + �λ). Βυτ τηε λαστ

ινεθυαλιτψ ηολδσ δυε το
θ
��=(�η + �λ) > ��=(�η + �λ) > ��=(3�η + �λ). �

Προοφ οφ Προποσιτιον 2 Φορ � � �, ιτ φολλοωσ φροµ Λεµµα 5 τηατ τηε σεθυεντιαλ ρατιοναλ

χοντραχτ ψιελδσ τηε πρινχιπαλ α σεχονδ περιοδ παψο⁄ οφ �ς Π2 = 2�λ
 ανδ τηε ινε′χιεντ αγεντ Α

εξπεχτσ α παψο⁄ ���
, βεχαυσε ηε βεχοµεσ τψπε �µ ωιτη προβαβιλιτψ �. Φορ � 2 (�; �] τηισ

παψο⁄ ισ �ς Π2 = [1� (1� �)2] (�η+�λ)
 ανδ τηε ινε′χιεντ αγεντ Α εξπεχτσ α ζερο παψο⁄. Φορ

� > �, ηερ παψο⁄ ισ �ς Π2 = 2�2�η
 ανδ τηε ινε′χιεντ αγεντ Α εξπεχτσ α ζερο παψο⁄. Τηεσε

παψο⁄σ αρε ινδεπενδεντ οφ τηε �ρστ περιοδ χοντραχτ �ς2 . Τηε πρινχιπαλ�σ οπτιµαλ �ρστ περιοδ

ποολινγ χοντραχτ �ς2 , τηερεφορε, σιµπλψ µαξιµιζεσ �
ς Π
1 � θ1�!1 συβϕεχτ το τηε παρτιχιπατιον

χονστραιντσ οφ αγεντ Α οϖερ βοτη περιοδσ. Τηε ινε′χιεντ αγεντ Α ρεχειϖε α ρεντ ιν τ = 2 ονλψ

φορ � � �. Ιν τηισ χασε, ηισ παρτιχιπατιον χονστραιντ ισ !1� (1� �
λ)θ1+���
 � 0 σο τηατ τηε

οπτιµαλ �ρστ περιοδ χοντραχτ ισ θ1 = 1 ανδ !1 = (1��
λ)θ1����
 � 0. Ιτ ψιελδσ τηε πρινχιπαλ

τηε παψο⁄ �λ+���
 ιν τ = 1. Φορ � > �, τηε ινε′χιεντ αγεντ Α δοεσ νοτ εξπεχτ α ρεντ φροµ

τηε σεθυεντιαλ ρατιοναλ χοντραχτ σο τηατ ηισ παρτιχιπατιον χονστραιντ ισ !1 � (1 � �
λ)θ1 � 0.

Ηενχε, τηε οπτιµαλ �ρστ περιοδ χοντραχτ ισ θ1 = 1 ανδ !1 = 1� �
λ. Ιτ ψιελδσ τηε πρινχιπαλ τηε
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παψο⁄ �λ ιν τ = 1. Αδδινγ τηε παψο⁄σ οϖερ βοτη περιοδ ψιελδσ τηε εξπρεσσιον φορ �ς Π ιν τηε

Προποσιτιον.

Νεξτ, ωε σηοω τηατ ��Π � �Η � �ς Π � 0 φορ αλλ � 2 [0; 1]. Ιν ορδερ το χοµπυτε ��Π

ωε �ρστ χλαιµ τηατ � < ⊥�(�λ) ανδ � > ⊥�(�η). Τηε �ρστ χλαιµ φολλοωσ βεχαυσε

⊥�(�λ)� � =
2�λ

�η + �λ
� 1 +

σ
��

�η + �λ
= �

��

�η + �λ
+

σ
��

�η + �λ
;

ωηιχη ισ ποσιτιϖε βεχαυσε τηε φραχτιον ισ σµαλλερ τηαν 1. Τηε σεχονδ χλαιµ φολλοωσ φροµ

�� ⊥�(�η) =
2(�η + �λ)

3�η + �λ
�
�λ + �η

2�η
=

�η
2
� �λ

2

2�η(3�η + �λ)
> 0:

Χονσεθυεντλψ,

��Π =

8
>>>>>>>>><
>>>>>>>>>:

0 ιφ � � �

(1� �)(2�λ � �(�η + �λ))
 ιφ � < � � ⊥�(�λ)

0 ιφ ⊥�(�λ) < � � ⊥�(�η)

�(2��η � (�η � �λ))
 ιφ ⊥�(�η) < � � �

(1� �)�(�η + �λ)
 ιφ � > �:

Τηεσε τερµσ αρε αλλ νον−νεγατιϖε, βεχαυσε � � ⊥�(�λ) ιµπλιεσ 2�λ � �(�η + �λ) ανδ � > ⊥�(�η)

ιµπλιεσ 2��η > �η � �λ. �

Προοφ οφ Λεµµα 6 Γιϖεν τηε ρεπορτ �α1 ιν τ = 1, τηε µαξιµιζατιον προβλεµ ισ εθυιϖαλεντ

το α στατιχ χοντραχτινγ προβλεµ ωηερε τηερε ισ πριϖατε ινφορµατιον αβουτ τψπε �β 2 φ�η; �λγ.

Ασ ιν Λεµµα 2, τηε παρτιχιπατιον οφ τηε ινε′χιεντ τψπε ανδ τηε ινχεντιϖε χοµπατιβιλιτψ

χονστραιντ οφ τηε ε′χιεντ τψπε αρε βινδινγ. Τηισ ψιελδσ ωαγεσ:

Ω αλ = (2� �α � �λ)θαλ2 =2 ανδ Ω
αη = (2� �α � �η)θαη2 =2 + ��θ

αλ
2 =2:

Συβστιτυτινγ τηεσε ϖαριαβλεσ ιν τηε πρινχιπαλ�σ οβϕεχτιϖε φυνχτιον ψιελδσ:

�[θαη2 � (2� �α � �η)θαη2 =2���θ
αλ
2 =2] + (1� �)[θ

αλ
2 � (2� �

α � �λ)θαλ2 =2]

= �θαη2 [�
α + �η]=2 + θαλ2 [(1� �)(�

α + �λ)� ���]=2:

33



Μαξιµιζινγ τηισ εξπρεσσιον φορ θαη2 2 φ0; 2
γ ψιελδσ θαη2 = 2
. Μαξιµιζινγ τηε εξπρεσσιον φορ

θαλ2 2 φ0; 2
γ ψιελδσ θ
αλ
2 = 2
 ιφ (1��)(�

α+ �λ) � ���, ωηιχη ισ εθυιϖαλεντ το � � ⊥�(�α), ανδ

θαλ2 = 0 οτηερωισε. Βεχαυσε ⊥�(�
η) > ⊥�(�λ) τηε λεµµα φολλοωσ. �

Προοφ οφ Λεµµα 7 Αφτερ ρεπορτινγ �α = �η ιν τ = 1; τηε ινε′χιεντ αγεντ Α ρεχειϖεσ,

ασ σπεχι�εδ ιν Λεµµα 6, τηε χοντραχτ φθηβ2 ;Ω
ηβγβ2φη;λγ ωηεν ηε ρεπορτσ αγεντ Β�σ τψπε ιν

τ = 2. Τηατ ισ, ηε ρεχειϖεσ τηε παψο⁄ Ω λβ � (1� �λ)θλβ2 =2� (1� �
β0)θλβ2 =2 φροµ αχχεπτινγ τηε

χοντραχτ ωηεν αγεντ Β ισ αχτυαλλψ οφ τψπε �β
0

(ωηιχη µαψ δι⁄ερ φροµ τηε ρεπορτεδ �β). Ιτ ισ

στραιγητφορωαρδ το χηεχκ τηατ, φορ τηε χοντραχτσ ιν Λεµµα 6 τηεσε παψο⁄σ αρε αλλ νον−ποσιτιϖε

φορ αλλ χοµβινατιονσ (β; β0) ανδ ανψ � 2 [0; 1] σο τηατ ιτ ισ οπτιµαλ φορ τηε ινε′χιεντ αγεντ το

ρεϕεχτ τηε χοντραχτ.

Αφτερ ρεπορτινγ �α = �λ ιν τ = 1; τηε ε′χιεντ αγεντ Α ρεχειϖεσ τηε χοντραχτ φθλβ2 ;Ω
λβγβ2φη;λγ

ασ σπεχι�εδ ιν Λεµµα 6. Τηατ ισ, ηε ρεχειϖεσ τηε παψο⁄ Ω λβ � (1� �η)θλβ2 =2� (1� �
β0)θλβ2 =2

φροµ αχχεπτινγ τηε χοντραχτ ωηεν αγεντ Β ισ αχτυαλλψ οφ τψπε �β
0

. Ιτ ισ στραιγητφορωαρδ το

χηεχκ τηατ, φορ τηε χοντραχτσ ιν Λεµµα 6, τηε ε′χιεντ αγεντ Α αλωαψσ ηασ α ωεακλψ ηιγηερ

παψο⁄ φροµ ρεπορτινγ αγεντ Β�σ τψπε �β
0

ηονεστλψ ανδ τηισ παψο⁄ ισ νον�νεγατιϖε. �

Προοφ οφ Λεµµα 8 Ωε διστινγυιση τηε τηρεε δι⁄ερεντ χασεσ οφ Λεµµα 6.

Χασε ι) � � ⊥�(�λ): Φροµ Λεµµα 6 ιτ φολλοωσ τηατ τηε ε′χιεντ αγεντ Α ρεχειϖεσ αν εξπεχτεδ

ινφορµατιον ρεντ ��
 ιφ ηε ρεπορτσ �η ιν τ = 1. Ιφ ινστεαδ ηε ρεπορτσ �λ τηεν, βψ Λεµµα 7

ανδ 6, ηε ρεχειϖεσ α ρεντ ιν τ = 2 οφ 2��
 ιφ αγεντ Β ηαππενσ το βε ε′χιεντ ανδ ��
 ιφ αγεντ

Β ηαππενσ το βε ινε′χιεντ. Ηενχε, τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβιλιτψ το τψπε �η

ιφ:

!η1 � (1� �
η) + ���
 � !λ1 +��
 + ���
:

Λικεωισε, ιτ φολλοωσ φροµ Λεµµα 6 ανδ Λεµµα 7 τηατ, ιρρεσπεχτιϖε οφ ηισ ρεπορτ ιν τ = 1,

τηε ινε′χιεντ αγεντ Α ρεχειϖεσ νο ρεντ. Ηενχε, τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβιλιτψ

το τψπε �λ ιφ:

!λ1 + ���
 � !
η
1 � (1� �

λ):
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Χοµβινινγ τηε πρεϖιουσ τωο χονδιτιονσ σηοωσ τηατ τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβλε

εξαχτλψ ωηεν:

(1� �η) + ��
 � !η1 � !
λ
1 � (1� �

λ) + ���
: (15)

Ιµπλεµενταβιλιτψ ρεθυιρεσ 1 � �η + ��
 < 1 � �λ + ���
 ωηιχη ηολδσ εξαχτλψ ωηεν 
 <

1=(1� �)...

Χασε ιι) � 2 (⊥�(�λ); ⊥�(�η)]: Φροµ Λεµµα 6 ανδ Λεµµα 7 ιτ φολλοωσ τηατ τηε ε′χιεντ

αγεντ Α ρεχειϖεσ αν εξπεχτεδ ινφορµατιον ρεντ οφ ���
 ιρρεσπεχτιϖε οφ ηισ ρεπορτ ιν τ = 1.

Ηενχε, τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβιλιτψ το τψπε �η ιφ:

!η1 � (1� �
η) + ���
 � !λ1 + ���
:

Λικεωισε, ιτ φολλοωσ φροµ Λεµµα 6 τηατ τηε ινε′χιεντ αγεντ Α ρεχειϖεσ αν εξπεχτεδ ρεντ

���
 ιν τ = 2 φροµ ρεπορτινγ �λ. Ιφ ηε ρεπορτσ �η ινστεαδ τηεν, βψ Λεµµα 7, ηε ρεχειϖεσ νο

ρεντ ιν τ = 2. Ηενχε, τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβιλιτψ το τψπε �λ ιφ:

!λ1 + ���
 � !
η
1 � (1� �

λ):

Χοµβινινγ τηε πρεϖιουσ τωο χονδιτιονσ σηοωσ τηατ τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβλε

εξαχτλψ ωηεν:

(1� �η) � !η1 � !
λ
1 � (1� �

λ): (16)

Ηενχε, ιµπλεµενταβιλιτψ ρεθυιρεσ 1� �η < 1� �λ ωηιχη ισ αλωαψσ τηε χασε.

Χασε ιιι) � > ⊥�(�η): Φροµ Λεµµα 6 ανδ Λεµµα 7 ιτ φολλοωσ τηατ τηε ε′χιεντ αγεντ Α

ρεχειϖεσ νο ρεντ ιν τ = 2 ιφ ηε ρεπορτσ �η ιν τ = 1. Ιφ, ινστεαδ, ηε ρεπορτσ �λ τηεν Λεµµα

7 ανδ 6 ιµπλψ τηατ ηε ρεχειϖεσ α ρεντ ιν τ = 2 οφ ��
 ιν τ = 2 ιφ αγεντ Β ηαππενσ το βε

ε′χιεντ ανδ νο ρεντ ιφ αγεντ Β ηαππενσ το βε ινε′χιεντ. Ηενχε, τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε

χοµπατιβιλιτψ το τψπε �η ιφ:

!η1 � (1� �
η) � !λ1 + ���
:::

Λικεωισε, ιτ φολλοωσ φροµ Λεµµα 6 τηατ, ιρρεσπεχτιϖε οφ ηισ ρεπορτ ιν τ = 2, τηε ινε′χιεντ

αγεντ Α ρεχειϖεσ νο ρεντ ιν τ = 2. Ηενχε, τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβιλιτψ το τψπε
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�λ ιφ:

!λ1 � !
η
1 � (1� �

λ):

Χοµβινινγ τηε πρεϖιουσ τωο χονδιτιονσ σηοωσ τηατ τηε χοντραχτ �ς Σ1 ισ ινχεντιϖε χοµπατιβλε

εξαχτλψ ωηεν:

(1� �η) + ���
 � !η1 � !
λ
1 � (1� �

λ): (17)

Ιµπλεµενταβιλιτψ ρεθυιρεσ 1� �η + ���
 < 1� �λ ωηιχη ηολδσ εξαχτλψ ωηεν 
 < 1=�. �

Προοφ οφ Προποσιτιον 3 Τηε πρινχιπαλ�σ οπτιµαλ ωαγε στρυχτυρε µινιµιζεσ ηερ εξπεχτεδ

ωαγεσ:

Ε� [!
α
1] = �!

η
1 + (1� �)!

λ
1;

ανδ ωε αρε λεφτ το δετερµινε !η1 ανδ !
λ
1. Φορ � � ⊥�(�

λ), τηε πρινχιπαλ µινιµιζεσ Ε� [!
α
1] υνδερ

τηε ινχεντιϖε χονστραιντσ (15) ανδ τηε παρτιχιπατιον χονστραιντσ,

!η1 � (1� �
η) + ���
 � 0 ανδ !λ1 + ���
 � 0:

Ατ τηε οπτιµυµ τηε παρτιχιπατιον χονστραιντ οφ τψπε �λ ανδ τηε ινχεντιϖε χονστραιντ οφ τψπε

�η αρε βινδινγ. Τηισ ψιελδσ !η1 = 1 � �
η + (1 � �)��
 ανδ !λ1 = ����
. Τηε πρινχιπαλ�σ

παψο⁄ ισ �ς = ��η + (∼� + �λ)
.

Φορ ⊥�(�λ) � � � ⊥�(�η), τηε πρινχιπαλ µινιµιζεσ Ε� [!
α
1] υνδερ τηε ινχεντιϖε χονστραιντσ

(16) ανδ τηε παρτιχιπατιον χονστραιντσ,

!η1 � (1� �
η) + ���
 � 0 ανδ !λ1 � 0:

Ατ τηε οπτιµυµ τηε παρτιχιπατιον χονστραιντ οφ τψπε �λ ανδ �η αρε βινδινγ. Τηισ ψιελδσ

!η1 = 1� �
η � ���
 ανδ !λ1 = 0. Τηε πρινχιπαλ�σ παψο⁄ ισ �

ς = �(�η + ���
) + (1� (1�

�)2)(�η + �λ)
 = ��η + 2�(�η + (1� �)�λ)
.

Φορ � > ⊥�(�η) ωε µινιµιζε Ε� [!
α
1] υνδερ τηε ινχεντιϖε χονστραιντσ (17) ανδ τηε παρτιχι−

πατιον χονστραιντσ,

!η1 � (1� �
η) � 0 ανδ !λ1 � 0:
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Ατ τηε οπτιµυµ τηε παρτιχιπατιον χονστραιντ οφ τψπε �λ ανδ τηε ινχεντιϖε χονστραιντ οφ τψπε

�η αρε βινδινγ. Τηισ ψιελδσ !η1 = 1 � �η + ���
 ανδ !λ1 = 0. Τηε πρινχιπαλ�σ παψο⁄ ισ

�ς = �(�η � ���
) + [2�2�η + (1� �)�(�η + �λ)
 = ��η + �(�η + �λ)
. �

Προοφ οφ Προποσιτιον 4 Βψ Προποσιτιον 2, τηε ηοριζονταλ ηιεραρχηψ ισ οπτιµαλ ωηενεϖερ

�ρστ περιοδ σεπαρατιον ιν τηε ϖερτιχαλ ηιεραρχηψ ισ νοτ ιµπλεµενταβλε. Ωε τηερεφορε ονλψ

νεεδ το χοµπαρε �Η ωιτη �ς . Φροµ Προποσιτιον 1 ανδ 3, ωε χοµπυτε �� = �Η � �ς

ωηενεϖερ �ρστ περιοδ σεπαρατιον ιν τηε ϖερτιχαλ ηιεραρχηψ ισ ιµπλεµενταβλε. Φορ � � ⊥�(�λ)

ανδ 
 < 1=(1��) ιτ φολλοωσ �� = �λ���η, ωηιχη ισ ποσιτιϖε εξαχτλψ ωηεν � < �λ=�η = ⊥�(0).

Ηενχε, ιφ � < ⊥�(0) τηε ηοριζονταλ ηιεραρχηψ ισ οπτιµαλ ιρρεσπεχτιϖε οφ ωηετηερ 
. Ινστεαδ, φορ

⊥�(0) < � � ⊥�(�λ), τηε ϖερτιχαλ ηιεραρχηψ ισ οπτιµαλ ωηενεϖερ ιτ ισ ιµπλεµενταβλε ωηιχη ισ τηε

χασε φορ 
 � 1=(1��). Φορ ⊥�(�λ) < � � ⊥�(�η), ωε ηαϖε �� = �λ���η��2�� < ��2�� < 0,

ωηερε τηε �ρστ ινεθυαλιτψ φολλοωσ βεχαυσε � � ⊥�(�λ) > ⊥�(0). Ηενχε, τηε ϖερτιχαλ ηιεραρχηψ ισ

οπτιµαλ ωηενεϖερ ιµπλεµενταβλε ανδ ιµπλεµενταβιλιτψ ισ αλωαψσ ενσυρεδ. Φορ � > ⊥�(�η) ανδ


 < 1=� ωε ηαϖε �� = �λ � ��η + �(∼� � �λ)
 = �λ � ��η + �2��
. Τηισ ισ νεγατιϖε εξαχτλψ

ωηεν 
 < �(�η � �λ)=(�2��). Βεχαυσε �(�η � �λ)=(�2��) < �(�η � ��λ)=(�2��) < 1=�.

�� < 0 ιµπλιεσ 
 < 1=� σο τηατ �ρστ περιοδ σεπαρατιον ισ ιµπλεµενταβλε. �

Προοφ οφ Λεµµα 9: Ωιτη 	ς Η , τηε σεθυεντιαλ ρατιοναλ χοντραχτ φθ
αβ
2 ; Ω

αβγβ2φη;λγ αφτερ α

�ρστ περιοδ ρεπορτ �η µαξιµιζεσ �ς2 συβϕεχτ το (13) ανδ (14) ωιτη �
α = �η. Λεµµα 6 προϖιδεσ

τηε σολυτιον το τηισ προβλεµ. Ωιτη 	ς Η , τηε σεθυεντιαλ ρατιοναλ χοντραχτ φθ
αβ; !αβΑ ; !

αβ
Β γ

β2φη;λγ

ιν τ = 2 αφτερ αγεντ Α�σ ρεπορτ τηατ �α = �λ ιν τ = 1 φολλοωσ διρεχτλψ φροµ Λεµµα 3. �

Προοφ οφ Προποσιτιον 5 Φροµ τηε �ρστ περιοδ χοντραχτ �	1 ωιτη 	ς Η , αγεντ Α οφ τψπε �
λ

εξπεχτσ τηε παψο⁄:

!λ1 � (1� �
λ)θλ1 + (1� �

λ)
 � (1� �λ)
 = !λ1 � (1� �
λ)θλ1 (18)

φροµ ρεπορτινγ τψπε �λ ιν τ = 1. Ιφ τηισ τψπε, ιν χοντραστ, ρεπορτσ �η, τηεν ιτ ισ οπτιµαλ φορ ηιµ

το ρεϕεχτ τηε σεθυεντιαλ ρατιοναλ χοντραχτ ο⁄ερ �	2 οφ Λεµµα 9 ιν τ = 2 φορ βοτη παραµετερ
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χονστελλατιονσ � � ⊥�(�η) ανδ � > ⊥�(�η). Ηενχε, ρεπορτινγ �η ιν τ = 2 ψιελδσ τψπε �λ τηε

παψο⁄:

!η1 � (1� �
λ)θη1 : (19)

Τψπε �λ ηασ αν ινχεντιϖε το ρεπορτ τρυτηφυλλψ ιν τ = 1 εξαχτλψ ωηεν (18) εξχεεδσ (19), ι.ε.,

εξαχτλψ ωηεν

!η1 � !
λ
1 � (1� �

λ)(θη1 � θ
λ
1): (20)

Φορ τηε παραµετερ χονστελλατιον � � ⊥�(�η), ιτ φολλοωσ φροµ Λεµµα 9 τηατ τρυτηφυλλψ ρεπορτινγ

ηισ τψπε �η ψιελδσ αγεντ Α:

!η1�(1��
η)θη1+(2��

η��λ)
�(1��η)
��(1��η)
�(1��)(1��λ)
 = !η1�(1��
η)θη1+���
:

(21)

Φορ τηε παραµετερ χονστελλατιον � > ⊥�(�η), ιτ φολλοωσ φροµ Λεµµα 9 τηατ τρυτηφυλλψ ρεπορτινγ

ηισ τψπε �η ψιελδσ αγεντ Α:

!η1 � (1� �
η)θη1 + �[(2� �

η � �η)
 � (1� �η)
 � (1� �η)
] = !η1 � (1� �
η)θη1 : (22)

Ινστεαδ, ρεπορτινγ �λ ιν τ = 1 ψιελδσ αγεντ Α οφ τψπε �η:

ωλ1 � (1� �
η)θλ1 + (1� �

λ)
 � (1� �η)
 = ωλ1 � (1� �
η)θλ1 +��
::: (23)

Ηενχε, φορ � � ⊥�(�η) αγεντ Α οφ τψπε �η ηασ αν ινχεντιϖε το ρεπορτ ηονεστλψ εξαχτλψ ωηεν

(21) εξχεεδσ (23), ι.ε., εξαχτλψ ωηεν

!η1 � !
λ
1 � (1� �

η)(θη1 � θ
λ
1) + (1� �)��
: (24)

Τηισ ισ χονσιστεντ ωιτη (20) ονλψ ιφ θη1 = 1, θ
λ
1 = 0 ανδ (1��)
 � 1. Σιµιλαρλψ, φορ � > ⊥�(�

η)

αγεντ Α οφ τψπε �η ηασ αν ινχεντιϖε το ρεπορτ ηονεστλψ εξαχτλψ ωηεν (22) εξχεεδσ (23), ι.ε.,

ωηεν

!η1 � !
λ
1 � (1� �

η)(θη1 � θ
λ
1) + ��
: (25)

Τηισ ισ ηοωεϖερ αλωαψσ ινχονσιστεντ ωιτη (20).
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Τηισ προϖεσ τηε �ρστ χλαιµ οφ τηε προποσιτιον τηατ ονλψ φορ � � ⊥�(�η) ανδ (1� �)
 � 1,

τηε χονδιτιοναλ ηιεραρχηψ ισ ιµπλεµενταβλε. Μορεοϖερ, ιµπλεµενταβιλιτψ ρεθυιρεσ θη1 = 1 ανδ

θλ1 = 0 σο τηατ τηε πρινχιπαλ�σ παψο⁄ ισ:

�[1�!η1+2
�(2��
η��λ)
]+(1��)[�ωλ1+2
�(1��

λ)
��(1��η)
�(1��)(1��λ)
] (26)

Τηε οπτιµαλ χοντραχτ µαξιµιζεσ (26) συβϕεχτ το θη1 = 1, θ
λ
1 = 0, τηε ινχεντιϖε χονστραιντσ (20)

ανδ (24), ανδ τηε παρτιχιπατιον χονστραιντσ ωηιχη ρεθυιρε τηατ (18) ανδ (22) αρε νον�νεγατιϖε.

Στραιγητφορωαρδ χαλχυλατιονσ ψιελδ τηατ τηισ προβλεµ ισ µαξιµιζεδ φορ !η1 = 1��
η+(1��)��


ανδ !λ1 = 0 ωιτη παψο⁄:

�ς Η = ��η + (∼� + �λ): (27)

Φροµ Προποσιτιον 3 ανδ 4 ωε χαν χοµπαρε τηισ εξπρεσσιον ωιτη �ς φορ τηε ιµπλεµενταβλε

ρανγε � � ⊥�(�η) ανδ (1 � �)
 � 1. Τηισ ψιελδσ �ς Η = �ς ωηεν � 2 (⊥�(0); ⊥�(�λ)] ανδ

�ς Η � �ς = [(2� �)�λ � 2�(1� �)�λ � ��η]
 < 0 φορ � 2 (⊥�(�λ); ⊥�(�η)] ανδ 
 < 1=(1� �):

Τηισ προϖεσ τηε σεχονδ χλαιµ οφ τηε προποσιτιον. �

Προοφ οφ Λεµµα 10 Ωιτη 	Ης , τηε σεθυεντιαλ ρατιοναλ χοντραχτ φθ
αβ
2 ; Ω

αβγβ2φη;λγ αφτερ α

�ρστ περιοδ ρεπορτ �λ µαξιµιζεσ �ς2 συβϕεχτ το (13) ανδ (14) ωιτη �
α = �λ. Λεµµα 6 προϖιδεσ

τηε σολυτιον το τηισ προβλεµ. Ωιτη 	Ης , τηε σεθυεντιαλ ρατιοναλ χοντραχτ φθ
αβ; !αβΑ ; !

αβ
Β γ

β2φη;λγ

ιν τ = 2 αφτερ αγεντ Α�σ ρεπορτ τηατ �α = �η ιν τ = 1 φολλοωσ διρεχτλψ φροµ Λεµµα 3. �

Προοφ οφ Προποσιτιον 6 Φιρστ, χονσιδερ τηε παραµετερ χονστελλατιον � � ⊥�(�λ)... Φροµ

τηε �ρστ περιοδ χοντραχτ �	1 ωιτη 	Ης , αγεντ Α οφ τψπε �
λ εξπεχτσ τηε παψο⁄:

!λ1�(1��
λ)θλ1+2(1��

λ)
�(1��λ)
��(1��η)
�(1��)(1��λ)
 = !λ1�(1��
λ)θλ1+���
 (28)

φροµ ρεπορτινγ τψπε �λ ιν τ = 1. Ιφ τηισ τψπε, ιν χοντραστ, ρεπορτσ �η, τηεν ιτ ισ οπτιµαλ φορ

ηιµ το ρεϕεχτ τηε σεθυεντιαλ ρατιοναλ χοντραχτ ο⁄ερ �	2 οφ Λεµµα 9 ιν τ = 2. Ηενχε, ρεπορτινγ

�η ιν τ = 2 ψιελδσ τψπε �λ τηε παψο⁄:

!η1 � (1� �
λ)θη1 : (29)
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Ηενχε, τψπε �λ ηασ αν ινχεντιϖε το ρεπορτ τρυτηφυλλψ ιν τ = 1 εξαχτλψ ωηεν (28) εξχεεδσ (29),

ι.ε., εξαχτλψ ωηεν

!η1 � !
λ
1 � (1� �

λ)(θη1 � θ
λ
1) + ���
: (30)

Φροµ Λεµµα 10 ιτ φολλοωσ τηατ τρυτηφυλλψ ρεπορτινγ ηισ τψπε �η ψιελδσ αγεντ Α:

!η1 � (1� �
η)θη1 + (1� �

η)
 � (1� �η)
 = !η1 � (1� �
η)θη1 : (31)

Ινστεαδ, ρεπορτινγ �λ ιν τ = 1 ψιελδσ αγεντ Α οφ τψπε �η:

!λ1�(1��
η)θλ1+(2��

λ��λ)
�(1��η)
��(1��η)
�(1��)(1��λ)
 = ωλ1�(1��
η)θλ1+(1+�)��
:::

(32)

Τψπε �η ηασ αν ινχεντιϖε το ρεπορτ τρυτηφυλλψ ωηεν (31) εξχεεδσ (32), ι.ε., ωηενεϖερ

!η1 � !
λ
1 � (1� �

η)(θη1 � θ
λ
1) + (1 + �)��
: (33)

Βεχαυσε 
 > 1 � θη1 � θ
λ
1, τηισ ινχεντιϖε χονστραιντ ισ νεϖερ χονσιστεντ ωιτη (30).

Νεξτ, χονσιδερ τηε παραµετερ χονστελλατιον � > ⊥�(�λ). Ιν τηισ χασε, τρυτηφυλλψ ρεπορτινγ

ηισ τψπε �λ ψιελδσ αγεντ Α τηε παψο⁄:

!λ1 � (1� �
λ)θλ1 + �[(2� �

λ � �η)
 � (1� �λ)
 � (1� �η)
 = !λ1 � (1� �
λ)θλ1: (34)

Αλσο φορ � > ⊥�(�λ), τηισ τψπε ρεϕεχτσ τηε σεθυεντιαλ ρατιοναλ χοντραχτ ο⁄ερ �	2 αφτερ ρεπορτινγ

�η ινστεαδ. Ηενχε, ρεπορτινγ �η ιν τ = 2 ψιελδσ τψπε �λ τηε παψο⁄ (29). Ηενχε, τψπε �λ ηασ

αν ινχεντιϖε το ρεπορτ τρυτηφυλλψ ιν τ = 1 εξαχτλψ ωηεν (34) εξχεεδσ (29), ι.ε., εξαχτλψ ωηεν

!η1 � !
λ
1 � (1� �

λ)(θη1 � θ
λ
1): (35)

Φροµ Λεµµα 10 ιτ φολλοωσ τηατ τρυτηφυλλψ ρεπορτινγ ηισ τψπε �η ψιελδσ αγεντ Α τηε παψο⁄

(31). Ινστεαδ, ρεπορτινγ �λ ιν τ = 1 ψιελδσ αγεντ Α οφ τψπε �η τηε φολλοωινγ παψο⁄12:

ωλ1� (1� �
η)θλ1+�[(2� �

λ� �η)
� (1� �η)
� (1� �η)
] = ωλ1� (1� �
η)θλ1+���
::: (36)

12Ασ βεφορε, τηε σεθυεντιαλ ρατιοναλ χοντραχτ ιν Λεµµα 10 τηατ ισ ο⁄ερεδ αφτερ α �ρστ περιοδ ρεπορτ �λ ισ

αλσο ινχεντιϖε χοµπατιβλε φορ αγεντ Α οφ τψπε �η.
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Ηενχε, τψπε �η ηασ αν ινχεντιϖε το ρεπορτ τρυτηφυλλψ ωηεν (31) εξχεεδσ (36), ι.ε., ωηενεϖερ

!η1 � !
λ
1 � (1� �

η)(θη1 � θ
λ
1) + ���
: (37)

Τηισ ινχεντιϖε χονστραιντ ισ ονλψ χονσιστεντ ωιτη (35) ιφ θη1 = 1, θ
λ
1 = 0, ανδ �
 � 1. Τηισ

προϖεσ τηε �ρστ στατεµεντ οφ τηε προποσιτιον.

Ηενχε, ιµπλεµενταβιλιτψ ρεθυιρεσ � > ⊥�(�λ), θη1 = 1, θλ1 = 0, ανδ �
 � 1 σο τηατ τηε

πρινχιπαλ�σ παψο⁄ ισ:

�[1�!η1 +2
� (1� �
η)
��(1� �η)
� (1��)(1� �λ)
]+ (1��)[�ωλ1+2
� (2� �

λ� �η)
]

= �[1� !η1 + (�
η + ∼�)
] + (1� �)[�!λ1 + �(�

λ + �η)
] (38)

Τηε οπτιµαλ χοντραχτ µαξιµιζεσ (38) συβϕεχτ το θη1 = 1, θλ1 = 0, τηε ινχεντιϖε χονστραιντσ

(35) ανδ (37), ανδ τηε παρτιχιπατιον χονστραιντσ ωηιχη ρεθυιρε τηατ (31) ανδ (34) αρε νον�

νεγατιϖε. Στραιγητφορωαρδ χαλχυλατιονσ ψιελδ τηατ τηισ προβλεµ ισ µαξιµιζεδ φορ !λ1 = 0 ανδ

!η1 = 1� �
η + ���
 ωιτη τηε παψο⁄:

�Ης = ��η + �(2� �)(�η + �λ)
::: (39)

Υσινγ Προποσιτιον 3 ανδ 4, ωε χαν χοµπαρε (39) ωιτη (ι) �ς φορ � 2 (⊥�(�λ); ⊥�(�η)] ανδ


 < 1=�, ανδ (ιι) �ς φορ � > ⊥�(�η) ανδ 
 < ��η��λ

�2��
: Φροµ α διρεχτ χοµπαρισον, �Ης ��ς =

��2��
 < 0 ιν χασε (ι) ανδ �Ης � �ς = �(1� �)��
 > 0 ιν χασε (ιι): �

Αππενδιξ 2: Σεµι−Σεπαρατινγ Στρατεγιεσ

Ωε σηοωεδ τηε οπτιµαλιτψ οφ ϖερτιχαλ ηιεραρχηιεσ βψ φοχυσινγ ον ποολινγ ανδ φυλλ σεπαρατιον

χοντραχτσ. Ιτ ισ ωελλ κνοων ηοωεϖερ τηατ, ιν γενεραλ, οπτιµαλ χοντραχτ µαψ αλσο ινϖολϖε

σεµι�σεπαρατιον. Τηισ ισ δυε το τηε λιµιτεδ χοµµιτµεντ οφ τηε πρινχιπαλ, ωηιχη λεαδσ το α

φαιλυρε οφ τηε ρεϖελατιον πρινχιπλε. Ιν τηισ αππενδιξ ωε σηοω τηατ τηε συπεριοριτψ οφ ϖερτιχαλ

ηιεραρχηιεσ ισ νοτ δυε το ουρ νεγλεχτ οφ σεµι�σεπαρατιον. Ωε, τηερεβψ, νεεδ το χονσιδερ ονλψ

σεµι σεπαρατινγ στρατεγιεσ ιν τηε ηοριζονταλ ηιεραρχηψ, βεχαυσε ωε δεµονστρατε τηατ τηεσε
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ουτχοµεσ λεαδ το παψο⁄σ τηατ αρε αλρεαδψ λοωερ τηαν τηε πρινχιπαλ�σ οπτιµαλ χοντραχτ ιν α

φυλλ σεπαρατινγ ϖερτιχαλ ηιεραρχηψ.

Βεστερ ανδ Στραυσζ (2001) σηοω τηατ, δεσπιτε ιµπερφεχτ χοµµιτµεντ βψ τηε πρινχιπαλ,

διρεχτ µεχηανισµσ χαν ιµπλεµεντ ανψ Παρετο οπτιµαλ ουτχοµε βετωεεν τηε πρινχιπαλ ανδ

τηε αγεντ. Τηεσε διρεχτ µεχηανισµσ ινδυχε τηε αγεντ το ρεπορτ ηισ τψπε τρυτηφυλλψ ωιτη

α στριχτ ποσιτιϖε προβαβιλιτψ, βυτ µαψ αλσο ρεθυιρε τηε αγεντ το µισρεπορτ ωιτη α στριχτλψ

ποσιτιϖε προβαβιλιτψ. Ιν ορδερ το ρεπρεσεντ συχη µεχηανισµσ ιν ουρ χοντεξτ, λετ �α 2 (0; 1]

δενοτε τηε προβαβιλιτψ τηατ αγεντ Α οφ τψπε �α ρεπορτσ ηισ τψπε τρυτηφυλλψ. Α χοµβινατιον

(�η; �λ) ρεπρεσεντσ αγεντ Α�σ ρεπορτινγ στρατεγψ ωηεν φαχινγ α διρεχτ µεχηανισµ. Βεχαυσε

ωε χαν αλωαψσ ρελαβελ µεσσαγεσ, ωε µαψ αλσο ρεστριχτ αττεντιον το ρεπορτινγ στρατεγιεσ ωιτη

�η � 1 � �λ. Ποολινγ χοντραχτσ τηεν χοινχιδε ωιτη τηε ρεπορτινγ στρατεγψ �η = �λ = 1=2

ανδ (φυλλ) σεπαρατιον χοντραχτσ χοινχιδε ωιτη τηε ρεπορτινγ στρατεγψ �η = �λ = 1. Βεχαυσε

ωε φοχυσ ιν τηισ αππενδιξ ον ρεπορτινγ στρατεγιεσ τηατ ιµπλψ νειτηερ φυλλ ποολινγ ορ φυλλ

σεπαρατιον, ωε χονσιδερ ονλψ ρεπορτινγ στρατεγιεσ φροµ τηε σετ:

Α � φ(�η; �λ) 2 (0; 1)� (0; 1) ϕ �η � 1� �λγνφ(1=2; 1=2); (1; 1)γ:

Μορεοϖερ, δενοτε τηε πρινχιπαλ�σ ποστεριορ βελιεφ τηατ αγεντ Α ισ ε′χιεντ αφτερ ηε ρεπορτσ

�αΑ ιν τ = 1 βψ �
α
2: Φορ α γιϖεν ρεπορτινγ στρατεγψ �

η ανδ �λ, τηε πρινχιπαλ�σ βελιεφσ �η2 ανδ

�λ2, ιν εθυιλιβριυµ, µυστ σατισφψ Βαψεσ� ρυλε ανδ:

�η2(�
η; �λ) �

��η

��η + (1� �)�λ
ανδ �λ2(�

η; �λ) �
�(1� �η)

�(1� �η) + (1� �)�λ
: (40)

Φορ ανψ ρεπορτινγ στρατεγψ (�η; �λ) 2 Α εξπρεσσιον (40) ιµπλιεσ �λ2 < � < �
η
2 .

Ιν αν εθυιλιβριυµ, τηε πρινχιπαλ�σ ο⁄ερ ιν τ = 2 ισ σεθυεντιαλ ρατιοναλ γιϖεν αγεντ Α�σ

ρεπορτινγ βεηαϖιορ. Ωε χαν, τηερεφορε, ϖιεω ιτ ασ χοντινγεντ ον αγεντ Α�σ ρεπορτ �α ανδ, βψ

Λεµµα 1, αλσο ον αγεντ Β�σ τψπε �β. Τηε χρυχιαλ θυεστιον ισ ωηετηερ τηε σεθυεντιαλ ρατιοναλ

χοντραχτ ιτσελφ ισ α ποολινγ ορ α σεπαρατιον ονε. Τηερεφορε, λετ �αβ δενοτε τηε προβαβιλιτψ τηατ

τηε πρινχιπαλ ο⁄ερσ α ποολινγ χοντραχτ ιν τ = 2 γιϖεν αγεντ Α�σ ρεπορτ �α ανδ αγεντ Β�σ τψπε
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�β. Βψ Λεµµα 2, σεθυεντιαλλψ ρατιοναλ βεηαϖιορ οφ τηε πρινχιπαλ ιµπλιεσ:

�αβ 2

8
>>><
>>>:

φ1γ ιφ �α2 < ⊥�(�
β);

[0; 1] ιφ �α2 = ⊥�(�
β);

φ0γ ιφ �α2 > ⊥�(�
β):

(41)

Φροµ �λ2 < � < �
η
2 , ιτ τηεν φολλοωσ τηατ �

λβ � �ηβ: Τηισ µεανσ τηατ, ιν εθυιλιβριυµ, ιτ ισ µορε

λικελψ τηατ τηε πρινχιπαλ ο⁄ερσ α ποολινγ χοντραχτ ιφ αγεντ Α ρεπορτσ ηιµσελφ ασ ινε′χιεντ.

Ιτ φολλοωσ, βεχαυσε τηε συβσεθυεντ δεχρεασε ιν τηε πρινχιπαλ�σ βελιεφ τηατ αγεντ Α ισ ε′χιεντ

σηιφτσ τηε τραδε�ο⁄ βετωεεν α ποολινγ ανδ α σεπαρατιον χοντραχτ µορε ιν φαϖορ οφ ποολινγ

χοντραχτσ.

Ον τηε εθυιλιβριυµ πατη, ανψ σεθυεντιαλ ρατιοναλ χοντραχτ ιν τ = 2, λεαϖεσ α ρεντ το αγεντ

Α ονλψ ιφ τηε χοντραχτ ισ α ποολινγ ονε ανδ, ιν τηισ χασε, τηε ρεντ ισ εξαχτλψ ��
. Αγεντ Α

οφ τψπε �η τηερεφορε εξπεχτσ το ρεχειϖε τηισ ρεντ ωιτη προβαβιλιτψ ��αη + (1� �)�αλ ωηεν ηε

ρεπορτσ �α. Βεχαυσε, ιν εθυιλιβριυµ, αγεντ Α�σ ρεπορτινγ στρατεγψ (�η; �λ) µυστ βε οπτιµαλ,

τηε ρεπορτινγ προβαβιλιτψ �η σατισ�εσ:

�η 2 αργµαξ
⊥�η

⊥�η[!η1 � (1� �
η) + (��ηη + (1� �)�ηλ)��
] (42)

+ (1� ⊥�η)[!λ1 + (��
λη + (1� �)�λλ)��
]:

Σιµιλαρλψ, βεχαυσε αγεντ Α οφ τψπε �λ ωιλλ νεϖερ ρεχειϖε α ρεντ ιν τ = 2, τηε ρεπορτινγ στρατεγψ

�λ, ιν εθυιλιβριυµ, σατισ�εσ:

�λ 2 αργµαξ
⊥�λ
⊥�λ!λ1 + (1� ⊥�

λ)[!η1 � (1� �
λ)]: (43)

Ωιτη τηε ηελπ οφ �η; �λ ανδ �αβ; τηε πρινχιπαλ�σ εξπεχτεδ παψο⁄ ιν τηε βεγιννινγ οφ τ = 1

χαν βε ωριττεν ασ:

�Ησεµι = �φ�η[1� !η1 + (�
η + ε� � (��ηη + (1� �)�ηλ)��)
] (44)

+(1� �η)[�!λ1 + (�
η + ε� � (��λη + (1� �)�λλ)��)
]γ

+(1� �)φ�λ[�!λ1 + (��
λη(�λ + �η) + (1� �)�λλ(�λ + �λ))
]

+(1� �λ)[1� !η1 + (��
ηη(�λ + �η) + (1� �)�ηλ(�λ + �λ))
]γ:
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Τηερεφορε, ιφ σεµι−σεπαρατιον ιν τηε ηοριζονταλ ηιεραρχηψ ισ οπτιµαλ, τηεν τηερε εξιστσ α

χοµβινατιον (�η; �λ) 2 Α τηατ µαξιµιζεσ �Ησεµι συβϕεχτ το (40), (41), (42), ανδ (43). Ιν

ορδερ το σολϖε τηισ προβλεµ, ωε �ρστ σηοω τηατ, ωιτη σεµι�σεπαρατιον, οπτιµαλ ρεπορτινγ

στρατεγιεσ αρε νεχεσσαριλψ συχη τηατ τηεψ ινδυχε α βελιεφ οφ τηε πρινχιπαλ τηατ µακεσ ηερ

εξαχτλψ ινδι⁄ερεντ αβουτ ο⁄ερινγ α ποολινγ ορ σεπαρατιον χοντραχτ ιν τ = 2... Τηε ιντυιτιον

βεηινδ τηισ ρεσυλτ ισ τηατ τηεσε βελιεφσ βρινγ τηε πρινχιπαλ�σ µψοπιχ σεχονδ περιοδ βεηαϖιορ ιν

λινε ωιτη τηε πρινχιπαλ�σ εξ αντε περσπεχτιϖε οφ τ = 1. Βεχαυσε, ιν εθυιλιβριυµ, τηε πρινχιπαλ�σ

βελιεφσ δεπενδ ον τηε αγεντ�σ ρεπορτινγ στρατεγψ, ηισ ρεπορτινγ βεηαϖιορ ισ α κεψ ινστρυµεντ

φορ χοντρολλινγ τηε πρινχιπαλ�σ µψοπιχ βεηαϖιορ ιν τ = 2.

Λεµµα 11 Ιφ ρεπορτινγ βεηαϖιορσ ιν Α αρε οπτιµαλ, τηεν τηερε εξιστ αν οπτιµαλ �η ανδ �λ

συχη τηατ ι) �η = 1 ανδ �η2(1; �
λ) = ⊥�(�η); ορ ιι) �λ = 1 ανδ �λ2(�

η; 1) = ⊥�(�λ), ορ ιιι)

�η2(�
η; �λ) = ⊥�(�η) ανδ �λ2(�

η; �λ) = ⊥�(�λ):

Προοφ. Συπποσε �η ανδ �λ αρε οπτιµαλ ανδ στοχηαστιχ ανδ �η2(�
η; �λ) 6= ⊥�(�η) ανδ

�λ2(�
η; �λ) 6= ⊥�(�λ). Βεχαυσε �αβ ονλψ χηανγεσ ατ ⊥�(�α), (44) ισ λινεαρ ιν �η ανδ �λ (φορ

συ′χιεντλψ σµαλλ χηανγεσ ιν �η ανδ �λ). Ηοωεϖερ, τηε οπτιµαλιτψ οφ �η ανδ �λ ιµπλιεσ τηατ

(44) χαν νειτηερ βε ινχρεασινγ νορ δεχρεασινγ ιν �η ορ �λ. Τηυσ, (44) µυστ βε ινδεπενδεντ

οφ �η ανδ �λ ανδ ωε χαν ινχρεασε ορ δεχρεασε �η ανδ �λ σο τηατ �η2(�
η; �λ) = ⊥�(�η) ορ

�λ2(�
η; �λ) = ⊥�(�λ). Βεχαυσε τηε οριγιναλ �αβ ισ χονσιστεντ ωιτη τηεσε αδαπτεδ �η ανδ �λ, ιτ

ψιελδσ τηε σαµε εξπεχτεδ παψο⁄ το τηε πρινχιπαλ ανδ ισ ηενχε αλσο οπτιµαλ. Συπποσε νοω τηερε

εξιστ νο δετερµινιστιχ ρεπορτινγ στρατεγψ ατ τηε οπτιµυµ. Τηεν, �η 2 (0; 1) ανδ �λ 2 (0; 1) σο

τηατ �η2(�
η; �λ) = ⊥�(�η) ορ �λ2(�

η; �λ) = ⊥�(�λ). Ιφ �η2(�
η; �λ) = ⊥�(�η) ανδ �λ2(�

η; �λ) 6= ⊥�(�λ),

τηεν ωε χαν σπεχιφψ τηε ιµπλιχιτ φυνχτιον ε�λ(�η) βψ �η2(�η; ε�λ(�η)) = �η2(�
η; �λ): Βεχαυσε

ε�λ ισ νεχεσσαριλψ λινεαρ ιν �η ανδ (44) ισ λινεαρ ιν βοτη �η ανδ �λ, ρεπλαχινγ �λ ωιτη ε�λ(�η)
ιν (44) ψιελδσ αν εξπρεσσιον φορ τηε πρινχιπαλ�σ παψο⁄ ε�Ησεµι(�η) τηατ ισ λινεαρ ιν �η φορ
α σµαλλ χηανγε ιν �η: Νοω, συπποσε �λ2(�

η; �λ) < ⊥�(�λ); ανδ χονσιδερ τηε ιντερϖαλ [0; ��η],

ωηερε ��η ισ συχη τηατ �λ2(��
η; ε�λ(��η)) = ⊥�(�λ). Νοτε τηατ ιφ �η ανδ �λ µαξιµιζε (44), τηεν

τηεψ µυστ µαξιµιζε ε�Ησεµι(�η) οϖερ [0; ��η] ατ �η, βεχαυσε �αβ ρεµαινσ υνχηανγεδ φορ ανψ
χοµβινατιον φ�η; �

η; ε�λ(�η)γ ωιτη �η 2 [0; ��η]. Ηοωεϖερ, βεχαυσε ε�Ησεµι(�η) ισ λινεαρ ιν

44



�η; ιτ µυστ βε µαξιµιζεδ ατ ειτηερ 0 ορ ��η: Ιτ φολλοωσ τηατ (44) µυστ αλσο βε οπτιµιζεδ

φορ φ�η; �λγ = φ0; ε�λ(0)γ ορ φ�η; �λγ = φ��η; ε�λ(��η)γ: Τηε �ρστ χασε, φ�η; �λγ = φ0; ε�λ(0)γ;
χοντραδιχτσ τηε ασσυµπτιον τηατ τηερε ονλψ εξιστ οπτιµαλ ουτχοµε ιν πυρελψ µιξεδ στρατεγψ,

ιµπλψινγ τηατ φ��η; ε�λ(��η)γ µυστ βε οπτιµαλ. Ψετ, ασ ωε νεεδεδ το σηοω, τηισ ιµπλιεσ �λ2 =
⊥�(�λ). Ιφ �λ2(�

η; �λ) > ⊥�(�λ) σιµιλαρ αργυµεντσ σηοω τηατ τηερε µυστ αλσο εξιστ οπτιµαλ �η

ανδ �λ ωιτη �η2(�
η; �λ) = ⊥�(�η) ανδ �λ2(�

η; �λ) = ⊥�(�λ): Τηε χασε οφ �η2(�
η; �λ) 6= ⊥�(�η) ανδ

�λ2(�
η; �λ) = ⊥�(�λ) χαν βε τρεατεδ σιµιλαρλψ το σηοω τηατ τηερε µυστ τηεν αλσο εξιστ οπτιµαλ

�η ανδ �λ ωιτη �η2(�
η; �λ) = ⊥�(�η) ανδ �λ2(�

η; �λ) = ⊥�(�λ):

Ωιτη τηισ χηαραχτεριζατιον ρεσυλτ οφ οπτιµαλ ρεπορτινγ βεηαϖιορσ, ωε µαψ χοµπυτε τηε

πρινχιπαλ�σ µαξιµυµ παψο⁄ φορ τηε τηρεε δι⁄ερεντ χασεσ ανδ χοµπυτε ηερ µαξιµυµ παψο⁄,

�Ησεµι αµονγ τηεσε χασεσ.

Προποσιτιον 7 Τηε παψο⁄ �ς εξχεεδσ τηε παψο⁄ φροµ ανψ χοντραχτ ιν τηε ηοριζονταλ ηιεραρ−

χηψ τηατ ινδυχεσ α σεµι−σεπαρατινγ ωηενεϖερ � < �µ ανδ, ιν παρτιχυλαρ, φορ ανψ � < ⊥�(�η),

βεχαυσε:

⊥�(�η) < �µ �
2�η�λ

(�η + �λ)��

:

Προοφ. Ωε χοµπυτε τηε παψο⁄σ φορ τηε τηρεε χασεσ ιν Λεµµα 11. Φιρστ, συπποσε �η = 1

ανδ �η2(1; �
λ) = ⊥�(�η) ισ οπτιµαλ. Βεχαυσε �η2 > �; τηισ χασε εξιστσ ονλψ ιφ ⊥�(�η) > �:

Μορεοϖερ, ιτ ηολδσ �λ2 = 0 σο τηατ �λη = �λλ = 1 ανδ, δυε το �η2(1; �
λ) = ⊥�(�η) > ⊥�(�λ) ιτ

φολλοωσ �ηλ = 0 ανδ τηε πρινχιπαλ ισ ινδι⁄ερεντ βετωεεν ποολινγ ανδ σεπαρατιον, ανδ τηυσ ηερ

εξπεχτεδ παψο⁄ ισ ινδεπενδεντ οφ �ηη: Εξπρεσσιον (44), τηερεφορε, σιµπλι�εσ το:

�[1� !η1 + (�
η + ∼�)
]

+(1� �)φ�λ[�!λ1 + (�(�
λ + �η) + (1� �)(�λ + �λ))
] + (1� �λ)[1� !η1 ]γ;

ανδ ισ το µαξιµιζε υνδερ τηε ινχεντιϖε χονστραιντσ,

!η1 � (1� �
η) + (1� ��ηη)��
 + !λ1 ανδ !λ1 = !

η
1 � (1� �

λ);

ανδ τηε παρτιχιπατιον χονστραιντσ,

!λ1 � 0 ανδ !η1 � 1� �
η � ��ηη��
:
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Βεχαυσε �ηη δοεσ νοτ ιν�υενχε τηε πρινχιπαλ�σ εξπεχτεδ παψο⁄, βυτ τηε χονστραιντσ αρε υν−

αµβιγυουσλψ ρελαξεδ φορ λαργερ �ηη; �ηη = 1 ισ οπτιµαλ. Ασ υσυαλ, τηε παρτιχιπατιον χονστραιντ

φορ τψπε �λ τογετηερ ωιτη τηε ινχεντιϖε χονστραιντ φορ τψπε �η ιµπλψ τηε παρτιχιπατιον χον−

στραιντ φορ τψπε �η: Ιτ αλσο φολλοωσ τηατ τηε τωο ινχεντιϖε χονστραιντσ αρε χονσιστεντ ονλψ ιφ

(1� �)
 � 1: Ιν τηισ χασε, !λ1 = !
η
1 � (1� �

λ) ιµπλιεσ τηατ τηε ινχεντιϖε χονστραιντ φορ τψπε

�η ισ σατισ�εδ, βεχαυσε ιτ φολλοωσ:

(1� �η) + (1� �)��
 + !λ1 = (1� �)��
 ��� + !
η
1 � !

η
1 :

Ηενχε, αν οπτιµαλ σολυτιον εξιστσ ονλψ ιφ (1� �)
 � 1 ανδ ιτ εξηιβιτσ:

!η1 = 1� �
λ ανδ !λ1 = 0;

ωιτη τηε παψο⁄:

�Ησεµι =
2��η�λ +

�
(2��η � �2��)�� + 2�λ(�η + �λ)

�



�η + �λ
;

ωηιχη ισ σµαλλερ τηαν �ς φορ τηε εντιρε ιµπλεµενταβλε ρανγε � < ⊥�(�η):

Συπποσε νοω �λ = 1 ανδ �λ2(�
η; 1) = ⊥�(�λ) ισ οπτιµαλ. Βεχαυσε �λ2 < �; τηισ χασε

εξιστσ ονλψ ιφ ⊥�(�λ) < �: Μορεοϖερ, ιτ ηολδσ �η2 = 1 σο τηατ �ηη = �ηλ = 0 ανδ, δυε το

�λ2(�
η; 1) = ⊥�(�λ) < ⊥�(�η) ιτ φολλοωσ �λη = 1 ανδ τηε πρινχιπαλ ισ ινδι⁄ερεντ βετωεεν σεπαρατιον

ανδ ποολινγ. Ηενχε τηε πρινχιπαλ�σ παψο⁄ ιν (44) ισ ινδεπενδεντ οφ �λλ, ανδ σιµπλι�εσ το:

�φ�η[1� !η1 + (�
η + ε�)
] + (1� �η)[�!λ1 + (�η + ε� � ���)
]γ

+(1� �)[�!λ1 + �(�
λ + �η)
];

ανδ ισ το µαξιµιζε υνδερ τηε ινχεντιϖε χονστραιντσ,

!η1 = (1� �
η) + (�+ (1� �)�λλ)��
 + !λ1 ανδ !λ1 � !

η
1 � (1� �

λ);

ανδ τηε παρτιχιπατιον χονστραιντσ,

!λ1 � 0 ανδ !η1 � 1� �
η:
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Αγαιν, τηε παρτιχιπατιον χονστραιντ οφ �η ισ ιµπλιεδ βψ τηε ινχεντιϖε χονστραιντ οφ �η ανδ τηε

παρτιχιπατιον χονστραιντ οφ �λ:Μορεοϖερ, βεχαυσε τηε πρινχιπαλ�σ εξπεχτεδ παψο⁄ ισ δεχρεασινγ

ιν !η1 ; ανδ !
η
1 ιτσελφ ισ δεχρεασινγ ιν �

λλ; α σµαλλερ !η1 ρελαξεσ τηε ινχεντιϖε χονστραιντ φορ τψπε

�λ, ανδ ιτ φολλοωσ τηατ �λλ = 0 µυστ βε οπτιµαλ. Ιτ τηεν φολλοωσ τηατ τηε τωο ινχεντιϖε

χονστραιντσ αρε χονσιστεντ ονλψ ιφ �
 � 1. Ονλψ ιν τηισ χασε, αν οπτιµαλ σολυτιον εξιστσ ανδ

εξηιβιτσ:

!η1 = (1� �
η) + ���
 ανδ !λ1 = 0;

ωιτη τηε παψο⁄:

�Ησεµι =
��η

2
� (2� �)�η�λ + �(2� �)(�η

2
� �λ

2
)


��
:

Τηισ ισ σµαλλερ τηαν �ς φορ τηε ρανγε � 2 (⊥�(�λ); ⊥�(�η)]: Φορ � > ⊥�(�η), στραιγητφορωαρδ

χαλχυλατιονσ σηοω τηατ �Ησεµι > �
ς ωηεν

� >
2�η�λ

(�η + �λ)��

:

Φιναλλψ, συπποσε �η2(�
η; �λ) = ⊥�(�η) ανδ �λ2(�

η; �λ) = ⊥�(�λ) ισ οπτιµαλ. Βεχαυσε �λ2 < � <

�η2 τηισ χασε εξιστσ ονλψ ιφ ⊥�(�
λ) < � < ⊥�(�η). ∆υε το �η2(�

η; �λ) = ⊥�(�η) > ⊥�(�λ), ιτ φολλοωσ

�ηλ = 0 ανδ, δυε το �λ2(�
η; �λ) = ⊥�(�λ) < ⊥�(�η), ιτ φολλοωσ �λη = 1. Μορεοϖερ, τηε πρινχιπαλ

ισ ινδι⁄ερεντ το �ηη ανδ �λλ; ανδ ηενχε ηερ εξπεχτεδ παψο⁄ µυστ βε ινδεπενδεντ οφ βοτη �ηη

ανδ �λλ: Τηε εξπρεσσιον ιν (44) σιµπλι�εσ το:

�φ�η[1� !η1 + (�
η + ε�)
] + (1� �η)[�!λ1 + (�η + ε� � ���)
]γ

+(1� �)φ�λ[�!λ1 + �(�
λ + �η)
] + (1� �λ)[1� !η1 ]γ; (45)

ανδ ισ το µαξιµιζε υνδερ τηε ινχεντιϖε χονστραιντσ,

!η1 = (1� �
η) + (�(1� �ηη) + (1� �)�λλ)��
 + !λ1 ανδ !λ1 = !

η
1 � (1� �

λ);

ανδ τηε παρτιχιπατιον χονστραιντσ,

!λ1 � 0 ανδ !η1 � 1� �
η + ��ηη��
:
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Τηε ινχεντιϖε χονστραιντσ αρε χονσιστεντ ονλψ ιφ �(1 � �ηη) + (1 � �)�λλ = 1=
: Τηισ ιµπλιεσ

!η1 = 1� �
λ + !λ1. Συβστιτυτινγ ουτ τηε ωαγε !

η
1 ιν (45) δεµονστρατεσ τηατ τηε εξπρεσσιον ισ

δεχρεασινγ ιν !λ1. Τηε οπτιµαλ ωαγε ισ !
λ
1 = 0, ωηιχη σατισ�εσ τηε παρτιχιπατιον χονστραιντ οφ

τψπε �η φορ �ηη = 0. Ιτ ψιελδσ τηε πρινχιπαλ τηε παψο⁄:

�Ησεµι =
2�η�λ(�(�η + �λ)� 2�λ) + �(2� �)(�η + �λ)��2


��2
;

ωηιχη ισ σµαλλερ τηαν �ς φορ τηε εντιρε ιµπλεµενταβλε ρανγε � 2 (⊥�(�λ); ⊥�(�η)):

Τηε προποσιτιον αβοϖε στατεσ τηατ, φορ � 2 (⊥�(0); ⊥�(�η)); τηε ϖερτιχαλ ηιεραρχηψ ισ αλσο

οπτιµαλ ωηεν χονσιδερινγ σεµι�σεπαρατινγ στρατεγιεσ. Φορ � 2 (⊥�(�η); 1); τηε ρεγιον οφ ϖερ−

τιχαλ ηιεραρχηψ ιν Φιγυρε 1 συρϖιϖεσ υνλεσσ � ισ ϖερψ ηιγη. Τηε ιντυιτιον βεηινδ τηε ρεσυλτ

ηερε ισ ασ φολλοωσ. Ωιτη τηε σεµι−σεπαρατινγ στρατεγψ, τηε προβαβιλιτψ οφ ζερο ουτπυτ ιν βοτη

περιοδσ ισ στριχτλψ ποσιτιϖε. Ηοωεϖερ, τηερε ισ α χηανχε τηατ σεπαρατιον τακεσ πλαχεσ ιν τ = 1

ωιτη νο ρεντ προϖισιον ιν τ = 2: Τηυσ, ιφ ιτ ισ ηιγηλψ λικελψ τηατ τηε αγεντ ισ ε′χιεντ, τηεν

τηε πρινχιπαλ πρεφερσ το τακε α ρισκ ιν τ = 1 βψ ινδυχινγ τηε αγεντ�σ ρανδοµιζατιον. Βψ δοινγ

σο τηε πρινχιπαλ�σ χοστ το σεπαρατε τηε τψπεσ οφ αγεντ Α ιν τ = 1 βεχοµεσ λοωερ. Ιφ, ηοωεϖερ,

τηε αγεντ ισ νοτ ηιγηλψ λικελψ το βε ε′χιεντ, τηεν τηε πρινχιπαλ ισ βεττερ ο⁄ βψ αϖοιδινγ τηε

σεµι−σεπαρατινγ στρατεγψ.
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